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1.2.3 Bridge 1 superl
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FORUM8



(m
LL 0.000 | ---=—=----
S1 40.000 1
S2 40.000 1
S3 40.000 1
S4 40.000 1
S5 40.000 1
LR 0.000 | --——---——--
H1 (m) H2 (m) (kN) (kN)
1 0.000 2.500 1539.640 2451.660
2 0.000 | --——---- 3079.290 | -~--——--——---—-
3 0.000 2.500 3079.290 6962.720
4 0.000 | --—----- 3079.290 | ---——---—---—-
5 0.000 2.500 3079.290 5982.060
6 0.000 | --——---- 3079.290 | -~--——--——---—-
7 0.000 2.500 3079.290 5982.060
8 0.000 | --—----- 3079.290 | ---——---—---—-
9 0.000 2.500 3079.290 6962.720
10 0.000 | --——---- 3079.290 | -~--——--——---—-
11 0.000 2.500 1539.640 2451.660
1)
(m 1z(m) ly(m") () m)
1 20.000 0.50000 7.20700 0.00700 0.59100
2 20.000 0.50000 7.20700 0.00700 0.59100
3 20.000 0.50000 7.20700 0.00700 0.59100
4 20.000 0.50000 7.20700 0.00700 0.59100
5 20.000 0.50000 7.20700 0.00700 0.59100
6 20.000 0.50000 7.20700 0.00700 0.59100
7 20.000 0.50000 7.20700 0.00700 0.59100
8 20.000 0.50000 7.20700 0.00700 0.59100
9 20.000 0.50000 7.20700 0.00700 0.59100
10 20.000 0.50000 7.20700 0.00700 0.59100
2)
(m 1z(m) ly(m") () m)
1 20.000 0.50000 7.20700 0.00700 0.59100
2 20.000 0.50000 7.20700 0.00700 0.59100
3 20.000 0.50000 7.20700 0.00700 0.59100
4 20.000 0.50000 7.20700 0.00700 0.59100
5 20.000 0.50000 7.20700 0.00700 0.59100
6 20.000 0.50000 7.20700 0.00700 0.59100
7 20.000 0.50000 7.20700 0.00700 0.59100
8 20.000 0.50000 7.20700 0.00700 0.59100
9 20.000 0.50000 7.20700 0.00700 0.59100
10 20.000 0.50000 7.20700 0.00700 0.59100
(m (m
w1l 5.000 5.000
w2 5.000 5.000
w3 5.000 5.000
W4 5.000 5.000
1 )
(kN/m) (kN/m) (kN/m) (kN.m/rad) (kN.m/rad) (kN.m/rad)

8.198360E+3
2.360000E+4

2.360000E+4

FORUM8



(kN/m) (kN/m) (kN/m) (kN.m/rad) (kN.m/rad) (kN.m/rad)
2.360000E+4 | 2.360000E+4
) 2.360000E+4 | 2.360000E+4
° 2.360000E+4 | 2.360000E+4
° 8.198360E+3
2 ( D)
(kN/m) (kN/m) (kN/m) (kN.m/rad) (kN.m/rad) (kN.m/rad)
1
8.198360E+3
? 2.360000E+4 | 2.360000E+4
’ 2.360000E+4 | 2.360000E+4
* 2.360000E+4 | 2.360000E+4
° 2.360000E+4 | 2.360000E+4
° 8.198360E+3
2 ( 1))
(kN/m) (kN/m) (kN/m) (kN.m/rad) (kN.m/rad) (kN.m/rad)
1
8.198360E+3
? 2.360000E+4 | 2.360000E+4
: 2.360000E+4 | 2.360000E+4
* 2.360000E+4 | 2.360000E+4
° 2.360000E+4 | 2.360000E+4
° 8.198360E+3
(ho)
(m
1 0.000
2 0.000
3 0.000
4 0.000
5 0.000
6 0.000

FORUM8



1.2.4 Bridge 1 AL(1 )

)
) X (m) 0.000
®) ( ) h (m)  ASB 2.500
4) m 0.000
6D (kN/m?) 2.35E+007
© (KN/m?)  1.02E+007
®) 1
O)
01
02
03
04
05
(¢H)
)
(©)) ) 2
) (M) : 0.000
1 1 1 2 2 2
> 1z ly J 1z ly J
(m () ) ) () () () ()
1- 2 2.550 24 .00000 8.00000 288.00000 0.70000 8.00000 288.00000 0.70000
2- 3 2.550 24.00000 8.00000 288.00000 0.70000 8.00000 288.00000 0.70000
3-4 1.000 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
4- 5 1.000 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000

FORUM8



(kN)

2 3427.420

4 5001.390
Kx(Ass) 3.520000E+006 kN/m
Ky(Awv) kN/m
Kz(Arr) 5.530000E+007 | kN.m/rad
Kxy (Asv) 0.000000E+000 kN/m
Kxz(Asr) -5.550000E+006 kN/rad
Kyz(Avr) 0.000000E+000 kN/rad
Kx(Arr) 9.505586E+007 | kN.m/rad
Ky kN.m/rad
Kz(Ass) 3.523529E+006 kN/m
Kxy 0.000000E+000 | kN.m/rad
Kxz(Ars) -5.547622E+006 kN.m/m
Kyz 0.000000E+000 kN.m/m

FORUM8



1.2.5 Bridge 1 P12 )
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4.43800

100.00000
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22.91500

100.00000
100.00000
0.70000

100.00000
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1.98300

100.00000
100.00000
8.19600

100.00000
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0.70000
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1 1 2 2 2
> 1z ly J 1z ly J
™ ™ ) ) ) ) ) )
4- 5 3.750 11.00000 4.43800 22.91500 0.70000 1.98300 8.19600 0.70000
5- 6 1.100 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
6- 7 1.100 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
(kN)
2 1372.930
4 2023.110
6 3897.160
M a | 11
2.290 5.280
1.740 3.620
Kx(Ass) 2.710000E+006 kN/m
Ky(Awv) kN/m
Kz(Arr) 3.840000E+007 | kN.m/rad
Kxy(Asv) 0.000000E+000 kN/m
Kxz(Asr) -4 .360000E+006 kN/rad
Kyz(Avr) 0.000000E+000 kN/rad
Kx(Arr) 3.840000E+007 | kN.m/rad
Ky kN.m/rad
Kz(Ass) 2.710000E+006 kN/m
Kxy 0.000000E+000 | kN.m/rad
Kxz(Ars) -4 .360000E+006 kN.m/m
Kyz 0.000000E+000 kN.m/m

FORUM8



1.2.6 Bridge 1 P2(3 )
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1.104
1.396
3.750

100.00000
100.00000
11.00000

100.00000
100.00000
4.43800

100.00000
100.00000
22.91500

100.00000
100.00000
0.70000

100.00000
100.00000
1.98300

100.00000
100.00000
8.19600

100.00000
100.00000
0.70000

FORUM8



1 1 2 2 2
> 1z ly J 1z ly J
™ ™ ) ) ) ) ) )
4- 5 3.750 11.00000 4.43800 22.91500 0.70000 1.98300 8.19600 0.70000
5- 6 1.100 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
6- 7 1.100 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
(kN)
2 1372.930
4 2023.110
6 3897.160
M a | 11
2.290 5.280
1.740 3.620
Kx(Ass) 2.710000E+006 kN/m
Ky(Awv) kN/m
Kz(Arr) 3.840000E+007 | kN.m/rad
Kxy(Asv) 0.000000E+000 kN/m
Kxz(Asr) -4 .360000E+006 kN/rad
Kyz(Avr) 0.000000E+000 kN/rad
Kx(Arr) 3.840000E+007 | kN.m/rad
Ky kN.m/rad
Kz(Ass) 2.710000E+006 kN/m
Kxy 0.000000E+000 | kN.m/rad
Kxz(Ars) -4 .360000E+006 kN.m/m
Kyz 0.000000E+000 kN.m/m

FORUM8
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1.2.7 Bridge 1 P3(4 )
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@ X (m)
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1.104
1.396
3.750

100.00000
100.00000
11.00000

100.00000
100.00000
4.43800

100.00000
100.00000
22.91500

100.00000
100.00000
0.70000

100.00000
100.00000
1.98300

100.00000
100.00000
8.19600

100.00000
100.00000
0.70000

FORUM8



- 11 -

1 1 2 2 2
> 1z ly J 1z ly J
™ ™ ) ) ) ) ) )
4- 5 3.750 11.00000 4.43800 22.91500 0.70000 1.98300 8.19600 0.70000
5- 6 1.100 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
6- 7 1.100 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
(kN)
2 1372.930
4 2023.110
6 3897.160
M a | 11
2.290 5.280
1.740 3.620
Kx(Ass) 2.710000E+006 kN/m
Ky(Awv) kN/m
Kz(Arr) 3.840000E+007 | kN.m/rad
Kxy(Asv) 0.000000E+000 kN/m
Kxz(Asr) -4 .360000E+006 kN/rad
Kyz(Avr) 0.000000E+000 kN/rad
Kx(Arr) 3.840000E+007 | kN.m/rad
Ky kN.m/rad
Kz(Ass) 2.710000E+006 kN/m
Kxy 0.000000E+000 | kN.m/rad
Kxz(Ars) -4 .360000E+006 kN.m/m
Kyz 0.000000E+000 kN.m/m

FORUM8
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1.2.8 Bridge 1 P4(5 )
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100.00000
100.00000
4.43800

100.00000
100.00000
22.91500

100.00000
100.00000
0.70000

100.00000
100.00000
1.98300

100.00000
100.00000
8.19600

100.00000
100.00000
0.70000
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1 1 2 2 2
> 1z ly J 1z ly J
™ ™ ) ) ) ) ) )
4- 5 3.750 11.00000 4.43800 22.91500 0.70000 1.98300 8.19600 0.70000
5- 6 1.100 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
6- 7 1.100 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
(kN)
2 1372.930
4 2023.110
6 3897.160
M a | 11
2.290 5.280
1.740 3.620
Kx(Ass) 2.710000E+006 kN/m
Ky(Awv) kN/m
Kz(Arr) 3.840000E+007 | kN.m/rad
Kxy(Asv) 0.000000E+000 kN/m
Kxz(Asr) -4 .360000E+006 kN/rad
Kyz(Avr) 0.000000E+000 kN/rad
Kx(Arr) 3.840000E+007 | kN.m/rad
Ky kN.m/rad
Kz(Ass) 2.710000E+006 kN/m
Kxy 0.000000E+000 | kN.m/rad
Kxz(Ars) -4 .360000E+006 kN.m/m
Kyz 0.000000E+000 kN.m/m

FORUM8
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1.2.9 Bridge 1 A2(6 )

)
) X (m) 0.000
®) ( ) h (m)  ASB 2.500
4) m 0.000
6D (kN/m?) 2.35E+007
© (KN/m?)  1.02E+007
®) 1
O)
01
02
03
04
05
(¢H)
)
(©)) ) 2
) (M) : 0.000
1 1 1 2 2 2
> 1z ly J 1z ly J
(m () ) ) () () () ()
1- 2 2.550 24 .00000 8.00000 288.00000 0.70000 8.00000 288.00000 0.70000
2- 3 2.550 24.00000 8.00000 288.00000 0.70000 8.00000 288.00000 0.70000
3-4 1.000 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
4- 5 1.000 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000

FORUM8



- 15 -

(kN)

2 3427.420

4 5001.390
Kx(Ass) 3.520000E+006 kN/m
Ky(Awv) kN/m
Kz(Arr) 5.530000E+007 | kN.m/rad
Kxy (Asv) 0.000000E+000 kN/m
Kxz(Asr) -5.550000E+006 kN/rad
Kyz(Avr) 0.000000E+000 kN/rad
Kx(Arr) 9.505586E+007 | kN.m/rad
Ky kN.m/rad
Kz(Ass) 3.523529E+006 kN/m
Kxy 0.000000E+000 | kN.m/rad
Kxz(Ars) -5.547622E+006 kN.m/m
Kyz 0.000000E+000 kN.m/m

FORUM8
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1.2.10

() 100.00000 100.00000 100.00000
2 () 100.00000 100.00000 100.00000
2 () 100.00000 100.00000 100.00000
() 100.00000 100.00000 100.00000

FORUM8
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1.3
1.3.1
39, 41, 42 4, 45 A7, 48 50, 51 53 54 4
1] 40 6] 43 13 | 46 20 ] 49 27 | 52 34 | 55
7 14 21 28
2 8 15 22 29 35
R 2R
4 9, 16 23 ¢ 30 a7
10 17 24 31
11 18 o5 39
12§ 19 26i 33
[ Mok kSFh: $ATEHH = 1:3.55 ]
™ ™ Wi (kN)
superl 39 0.000 0.000 | 1539.640
(Bridge 1) 41 20.000 0.000 | 3079.290
42| 40.000 0.000 | 3079.290
44| 60.000 0.000 | 3079.290
45| 80.000 0.000 | 3079.290
47| 100.000 0.000 | 3079.290
48| 120.000 0.000 | 3079.290
50 | 140.000 0.000 | 3079.290
51| 160.000 0.000 | 3079.290
53|  180.000 0.000 | 3079.290
54| 200.000 0.000 | 1539.640
40 0.000 ~2.500 0.000
43| 40.000 -2.500 0.000
46|  80.000 ~2.500 0.000
49| 120.000 ~2.500 0.000
52| 160.000 ~2.500 0.000
55|  200.000 ~2.500 0.000
AL 1 0.000 ~2.500 0.000
2 0.000 -5.050 | 3427.420
3 0.000 ~7.600 0.000
4 0.000 -8.600 [ 5001.390
5 0.000 -9.600 0.000
P1 6  40.000 ~2.500 0.000
7| 40000 -3.604 [ 1372.930
8 40000 ~5.000 0.000
o 40000 -8.750 [ 2023.110
10 40000 | -12.500 0.000
11| 40.000 [ -13.600 [ 3897.160
12|  40.000 [ -14.700 0.000
P2 13 80.000 ~2.500 0.000
14|  80.000 -3.604 [ 1372.930
15| 80.000 ~5.000 0.000
16|  80.000 -8.750 [ 2023.110
17 80000 | -12.500 0.000
18|  80.000 [ -13.600 [ 3897.160
19|  80.000 | -14.700 0.000
P3 20 | 120.000 ~2.500 0.000
21| 120.000 -3.604 [ 1372.930
22| 120.000 ~5.000 0.000
23| 120.000 -8.750 [ 2023.110
24| 120.000 |  -12.500 0.000
25| 120.000 | -13.600 [ 3897.160
26| 120.000 | -14.700 0.000

FORUM8



- 18 -

po po Wi (kN)
P4 27| 160.000 ~2.500 0.000
28|  160.000 30604 | 1372930
20| 160.000 ~5.000 0.000
30| 160,000 80750 | 2023.110
31| 160,000 | -12.500 0.000
32| 160.000| -13.600 | 3897.160
33| 160,000 | -14.700 0.000
A2 34| 200.000 ~2.500 0.000
35 [ 200000 5,050 | 3427.420
36 [ 200000 ~7.600 0.000
37| 200,000 82600 [ 5001.300
38| 200000 ~9.600 0.000
1 2
(KN/m) KN/ (m Iz () Iz ()
superl 39- 41 | 2.000E+008 | 7.700E+007 0.5910 0.5000 0.5000
(Bridge 1) 41- 42 0.5910 0.5000 0.5000
42- 44 0.5910 0.5000 0.5000
44- 45 0.5910 0.5000 0.5000
45- 47 0.5910 0.5000 0.5000
47- 48 0.5910 0.5000 0.5000
48- 50 0.5910 0.5000 0.5000
50- 51 0.5910 0.5000 0.5000
51- 53 0.5910 0.5000 0.5000
53- 54 0.5910 0.5000 0.5000
40- 39 | 2.000E+008 | 7.700+007 | 100.0000 | 100.0000 | 100.0000
43- 22
46- 45
49- 48
52- 51
55- 54
AL 1- 2| 2.350E+007 | 1.020E+007 |  24.0000 8.0000 8.0000
2- 3| 2.350E+007 | 1.020E+007 |  24.0000 8.0000 8.0000
3~ 4| 2.350E+007 | 1.020E+007 | 1000000 [ 100.0000 | 1000000
4- 5| 2.350E+007 | 1.020E+007 | 100.0000 | 100.0000 [ 1000000
P1 6- 7 |2.350E+007 | 1.020E4007 | 100.0000 [ 100.0000 | 100.0000
7- 8| 2.350E+007 | 1.020E+007 | 100.0000 [ 100.0000 | 1000000
8- 9| 2.350E+007 | 1.020E+007 | ~11.0000 4.4380 1.9830
9- 10 | 2.350E+007 | 1.020E+007 |  11-0000 4.4380 1.9830
10- 11 | 20350E+007 | 1.020E+007 | 100.0000 | 1000000 [ 100-0000
11- 12 | 2.350E+007 | 1.020E+007 | 100.0000 | 100.0000 [ 1000000
P2 13- 14 | 2.350E+007 | 1.020E+007 | 100.0000 | 100.0000 [ 100.0000
14- 15 | 2.350E+007 | 1.020E+007 | 100.0000 | 100.0000 [ 1000000
15- 16 | 2.350E+007 | 1.020E+007 |  11.0000 4.4380 1.9830
16- 17 | 2.350E+007 | 1.020E+007 |  11.0000 4.4380 1.9830
17- 18 | 2.350E+007 | 1.020E+007 | 100.0000 | 100-0000 | 100.0000
18- 19 | 2.350E+007 | 1.020E+007 | 100.0000 | 100.0000 [ 1000000
P3 20- 21 | 2.350e+007 | 1.020E+007 | 100.0000 | 100.0000 [ 100.0000
21- 22 | 2.350E+007 | 1.020E+007 | 100.0000 | 100.0000 | 100.0000
22- 23 | 2.350E+007 | 1.020E+007 | "11.0000 4.4380 1.9830
23- 24 | 2.350E+007 | 1.020E+007 |  11.0000 4.4380 1.9830
24- 25 | 2.350E+007 | 1.020E+007 | 100.0000 | 100.0000 [ 1000000
25- 26 | 2.350E+007 | 1.020E+007 | 100.0000 | 100-0000 | 100.0000
P4 27- 28 | 2.350E+007 | 1.020E+007 | 100.0000 | 100.0000 [ 100.0000
28- 29 | 2.350E+007 | 1.020E+007 | 100.0000 | 100.0000 [ 1000000
29- 30 | 2.350E+007 | 1.020E+007 | 110000 4.4380 1.9830
30- 31 | 2.350E+007 | 1.020E+007 |  11.0000 4.4380 1.9830
31- 32 | 2.350E+007 | 1.020E+007 | 100.0000 | 100.0000 | 100.0000
32- 33 | 2.350E+007 | 1.020E+007 | 100.0000 | 100.0000 | 100.0000
A2 34- 35 | 2.350E+007 [ 1.020E+007 |  24.0000 8.0000 8.0000
35- 36 | 2.350E+007 | 1.020E+007 |  24.0000 8.0000 8.0000
36- 37 | 2.350E+007 | 1.020E+007 | 10020000 | 100.0000 | 100.0000
37- 38 | 2.350E+007 | 1.020E+007 | 100.0000 | 100.0000 | 1000000

FORUM8



- 19 -

1 2
(kN/m?) (kN/m?) ly (m) J (m) ly (m") J (mY)
superl 39- 41 | 2.000E+008 | 7.700E+007 7.2070 0.0070 7.2070 0.0070
(Bridge 1) 41- 42 7.2070 0.0070 7.2070 0.0070
42- 44 7.2070 0.0070 7.2070 0.0070
44- 45 7.2070 0.0070 7.2070 0.0070
45- 47 7.2070 0.0070 7.2070 0.0070
47- 48 7.2070 0.0070 7.2070 0.0070
48- 50 7.2070 0.0070 7.2070 0.0070
50- 51 7.2070 0.0070 7.2070 0.0070
51- 53 7.2070 0.0070 7.2070 0.0070
53- 54 7.2070 0.0070 7.2070 0.0070
40- 39 | 2.000E+008 | 7.700E+007 100.0000 100.0000 100.0000 100.0000
43- 42
46- 45
49- 48
52- 51
55- 54
Al 1- 2| 2.350E+007 | 1.020E+007 288.0000 0.7000 288.0000 0.7000
2- 3| 2.350E+007 | 1.020E+007 288.0000 0.7000 288.0000 0.7000
3- 4| 2.350E+007 | 1.020E+007 100.0000 100.0000 100.0000 100.0000
4- 51 2.350E+007 | 1.020E+007 100.0000 100.0000 100.0000 100.0000
P1 6- 7 | 2.350E+007 | 1.020E+007 100.0000 100.0000 100.0000 100.0000
7- 8| 2.350E+007 | 1.020E+007 100.0000 100.0000 100.0000 100.0000
8- 9| 2.350E+007 | 1.020E+007 22.9150 0.7000 8.1960 0.7000
9- 10 | 2.350E+007 | 1.020E+007 22.9150 0.7000 8.1960 0.7000
10- 11 | 2.350E+007 | 1.020E+007 100.0000 100.0000 100.0000 100.0000
11- 12 | 2.350E+007 | 1.020E+007 100.0000 100.0000 100.0000 100.0000
P2 13- 14 | 2.350E+007 | 1.020E+007 100.0000 100.0000 100.0000 100.0000
14- 15 | 2.350E+007 | 1.020E+007 100.0000 100.0000 100.0000 100.0000
15- 16 | 2.350E+007 | 1.020E+007 22.9150 0.7000 8.1960 0.7000
16- 17 | 2.350E+007 | 1.020E+007 22.9150 0.7000 8.1960 0.7000
17- 18 | 2.350E+007 | 1.020E+007 100.0000 100.0000 100.0000 100.0000
18- 19 | 2.350E+007 | 1.020E+007 100.0000 100.0000 100.0000 100.0000
P3 20- 21 | 2.350E+007 | 1.020E+007 100.0000 100.0000 100.0000 100.0000
21- 22 | 2.350E+007 | 1.020E+007 100.0000 100.0000 100.0000 100.0000
22- 23 | 2.350E+007 | 1.020E+007 22.9150 0.7000 8.1960 0.7000
23- 24 | 2.350E+007 | 1.020E+007 22.9150 0.7000 8.1960 0.7000
24- 25| 2.350E+007 | 1.020E+007 100.0000 100.0000 100.0000 100.0000
25- 26 | 2.350E+007 | 1.020E+007 100.0000 100.0000 100.0000 100.0000
P4 27- 28 | 2.350E+007 | 1.020E+007 100.0000 100.0000 100.0000 100.0000
28- 29 | 2.350E+007 | 1.020E+007 100.0000 100.0000 100.0000 100.0000
29- 30 | 2.350E+007 | 1.020E+007 22.9150 0.7000 8.1960 0.7000
30- 31 | 2.350E+007 | 1.020E+007 22.9150 0.7000 8.1960 0.7000
31- 32 | 2.350E+007 | 1.020E+007 100.0000 100.0000 100.0000 100.0000
32- 33 | 2.350E+007 | 1.020E+007 100.0000 100.0000 100.0000 100.0000
A2 34- 35| 2.350E+007 | 1.020E+007 288.0000 0.7000 288.0000 0.7000
35- 36 | 2.350E+007 | 1.020E+007 288.0000 0.7000 288.0000 0.7000
36- 37 | 2.350E+007 | 1.020E+007 100.0000 100.0000 100.0000 100.0000
37- 38 | 2.350E+007 | 1.020E+007 100.0000 100.0000 100.0000 100.0000

FORUM8
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superl
(¢)) (m) 0.000
) (m) 0.000
(©) (m) 0.000
@) (m) 200.000
®) 5
(6) (KN/m?) 2 .00E+008
@) (KN/m?) 7.70E+007
(m
LL 0.000 | ---=—=----
S1 40.000 1
S2 40.000 1
S3 40.000 1
S4 40.000 1
S5 40.000 1
LR 0.000 | --——----—--
H1 (m) H2 (m) (kN) (kN)
1 0.000 2.500 1539.640 2451.660
2 0.000 | -------- 3079.290 | -==--===—=mm-
3 0.000 2.500 3079.290 6962.720
4 0.000 | -------- 3079.290 | --—--——===———-
5 0.000 2.500 3079.290 5982.060
6 0.000 | -------- 3079.290 | -==--=====mm-
7 0.000 2.500 3079.290 5982.060
8 0.000 | -------- 3079.290 | -—-—--——===———-
9 0.000 2.500 3079.290 6962.720
10 0.000 | -------- 3079.290 | -==--=====mm-
11 0.000 2.500 1539.640 2451.660
( 1)
1z(m’) ly(n) () ()
1 0.50000 7.20700 0.00700 0.59100
2 0.50000 7.20700 0.00700 0.59100
3 0.50000 7.20700 0.00700 0.59100
4 0.50000 7.20700 0.00700 0.59100
5 0.50000 7.20700 0.00700 0.59100
6 0.50000 7.20700 0.00700 0.59100
7 0.50000 7.20700 0.00700 0.59100
8 0.50000 7.20700 0.00700 0.59100
9 0.50000 7.20700 0.00700 0.59100
10 0.50000 7.20700 0.00700 0.59100
( 2)
1z(m’) ly(m?) () m)
1 0.50000 7.20700 0.00700 0.59100
2 0.50000 7.20700 0.00700 0.59100
3 0.50000 7.20700 0.00700 0.59100
4 0.50000 7.20700 0.00700 0.59100
5 0.50000 7.20700 0.00700 0.59100
6 0.50000 7.20700 0.00700 0.59100
7 0.50000 7.20700 0.00700 0.59100
8 0.50000 7.20700 0.00700 0.59100
9 0.50000 7.20700 0.00700 0.59100
10 0.50000 7.20700 0.00700 0.59100

FORUM8
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iy
(kN/m) (kN/m) (kN/m) (kN.m/rad) (kN.m/rad) (kN.m/rad)
1
8.198360E+3
? 2.360000E+4 | 2.360000E+4
’ 2.360000E+4 | 2.360000E+4
* 2.360000E+4 | 2.360000E+4
° 2.360000E+4 | 2.360000E+4
° 8.198360E+3
2 D)
(kN/m) (kN/m) (kN/m) (kN.m/rad) (kN.m/rad) (kN.m/rad)
1
8.198360E+3
? 2.360000E+4 | 2.360000E+4
: 2.360000E+4 | 2.360000E+4
* 2.360000E+4 | 2.360000E+4
° 2.360000E+4 | 2.360000E+4
° 8.198360E+3
2 )
(kN/m) (kN/m) (kN/m) (kN.m/rad) (kN.m/rad) (kN.m/rad)
1
8.198360E+3
? 2.360000E+4 | 2.360000E+4
: 2.360000E+4 | 2.360000E+4
) 2.360000E+4 | 2.360000E+4
° 2.360000E+4 | 2.360000E+4
° 8.198360E+3
(ho)
(m
1 0.000
2 0.000
3 0.000
4 0.000
5 0.000
6 0.000

FORUM8
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1
(kN)
2 3427.420
4 5001.390
m () (kN/m*) (kN/m*)
1- 2 2.5500 24.00000 2.35E+007 1.02E+007
2 3 2.5500 24.00000 2.35E+007 1.02E+007
3- 4 1.0000 100.00000 2.35E+007 1.02E+007
4 - 5 1.0000 100.00000 2.35E+007 1.02E+007
1 1 1 2 2 2
J J
Iz (") ly (n) () 1z (") ly () ()
1 2 8.00000 288.00000 0.70000 8.00000 288.00000 0.70000
2- 3 8.00000 288.00000 0.70000 8.00000 288.00000 0.70000
3- 4 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
4 - 5 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
Kx(Ass) 3.520000E+006 kN/m | Kx(Arr) 9.505586E+007 | kN.m/rad
Ky (Aw) kN/m | Ky kN.m/rad
Kz(Arr) 5.530000E+007 | kN.m/rad | Kz(Ass) 3.523529E+006 kN/m
Kxy (Asv) 0.000000E+000 kN/m | Kxy 0.000000E+000 | kN.m/rad
Kxz(Asr) -5.550000E+006 kN/rad | Kxz(Ars) -5.547622E+006 kN.m/m
Kyz(Avr) 0.000000E+000 kN/rad | Kyz 0.000000E+000 kN.m/m
(m) = 0.000

FORUM8
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] P1
1 1
2 I "
3 (u a) 2.290 5.280
(v a) 1.740 3.620
(kN)
4“
2 1372.930
4 2023.110
6 3897.160
5
6 (m m) (kN/m*) (kN/m*)
7 1 2 1.1040 100.00000 2._35E+007 1.02E+007
2- 3 1.3960 100.00000 2.35E+007 1.02E+007
3- 4 3.7500 11.00000 2.35E+007 1.02E+007
4 -5 3.7500 11.00000 2._35E+007 1.02E+007
5 6 1.1000 100.00000 2._35E+007 1.02E+007
6 - 7 1.1000 100.00000 2.35E+007 1.02E+007
1 1 1 2 2 2
4 4 4 J 4 4 4 J
1z (m) ly (m) () 1z (m) ly (m) (m)
1- 2 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
2 3 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
3- 4 4.43800 22.91500 0.70000 1.98300 8.19600 0.70000
4 - 5 4.43800 22.91500 0.70000 1.98300 8.19600 0.70000
5- 6 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
6- 7 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
Kx(Ass) 2_710000E+006 kN/m | Kx(Arr) 3.840000E+007 | kN.m/rad
Ky (Awv) kN/m | Ky kN.m/rad
Kz(Arr) 3.840000E+007 | kN.m/rad | Kz(Ass) 2.710000E+006 kN/m
Kxy(Asv) 0.000000E+000 kN/m | Kxy 0.000000E+000 | kN.m/rad
Kxz(Asr) -4.360000E+006 kN/rad | Kxz(Ars) -4.360000E+006 kN.m/m
Kyz(Avr) 0.000000E+000 kN/rad | Kyz 0.000000E+000 kN.m/m
(m) = 0.000

FORUM8
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[ P2
1 1
2 I "
3 (u a) 2.290 5.280
(v a) 1.740 3.620
(kN)
4“
2 1372.930
4 2023.110
6 3897.160
5
6 (m m) (kN/m*) (kN/m*)
7 1 2 1.1040 100.00000 2._35E+007 1.02E+007
2- 3 1.3960 100.00000 2.35E+007 1.02E+007
3- 4 3.7500 11.00000 2.35E+007 1.02E+007
4 -5 3.7500 11.00000 2._35E+007 1.02E+007
5 6 1.1000 100.00000 2._35E+007 1.02E+007
6 - 7 1.1000 100.00000 2.35E+007 1.02E+007
1 1 1 2 2 2
4 4 4 J 4 4 4 J
1z (m) ly (m) () 1z (m) ly (m) (m)
1- 2 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
2 3 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
3- 4 4.43800 22.91500 0.70000 1.98300 8.19600 0.70000
4 - 5 4.43800 22.91500 0.70000 1.98300 8.19600 0.70000
5- 6 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
6- 7 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
Kx(Ass) 2_710000E+006 kN/m | Kx(Arr) 3.840000E+007 | kN.m/rad
Ky (Awv) kN/m | Ky kN.m/rad
Kz(Arr) 3.840000E+007 | kN.m/rad | Kz(Ass) 2.710000E+006 kN/m
Kxy(Asv) 0.000000E+000 kN/m | Kxy 0.000000E+000 | kN.m/rad
Kxz(Asr) -4.360000E+006 kN/rad | Kxz(Ars) -4.360000E+006 kN.m/m
Kyz(Avr) 0.000000E+000 kN/rad | Kyz 0.000000E+000 kN.m/m
(m) = 0.000

FORUM8
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[ P3
1 1
2 I "
3 (u a) 2.290 5.280
(v a) 1.740 3.620
(kN)
4“
2 1372.930
4 2023.110
6 3897.160
5
6 (m m) (kN/m*) (kN/m*)
7 1 2 1.1040 100.00000 2._35E+007 1.02E+007
2- 3 1.3960 100.00000 2.35E+007 1.02E+007
3- 4 3.7500 11.00000 2.35E+007 1.02E+007
4 -5 3.7500 11.00000 2._35E+007 1.02E+007
5 6 1.1000 100.00000 2._35E+007 1.02E+007
6 - 7 1.1000 100.00000 2.35E+007 1.02E+007
1 1 1 2 2 2
4 4 4 J 4 4 4 J
1z (m) ly (m) () 1z (m) ly (m) (m)
1- 2 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
2 3 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
3- 4 4.43800 22.91500 0.70000 1.98300 8.19600 0.70000
4 - 5 4.43800 22.91500 0.70000 1.98300 8.19600 0.70000
5- 6 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
6- 7 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
Kx(Ass) 2_710000E+006 kN/m | Kx(Arr) 3.840000E+007 | kN.m/rad
Ky (Awv) kN/m | Ky kN.m/rad
Kz(Arr) 3.840000E+007 | kN.m/rad | Kz(Ass) 2.710000E+006 kN/m
Kxy(Asv) 0.000000E+000 kN/m | Kxy 0.000000E+000 | kN.m/rad
Kxz(Asr) -4.360000E+006 kN/rad | Kxz(Ars) -4.360000E+006 kN.m/m
Kyz(Avr) 0.000000E+000 kN/rad | Kyz 0.000000E+000 kN.m/m
(m) = 0.000

FORUM8
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u P4
1 1
2 I "
3 (u a) 2.290 5.280
(v a) 1.740 3.620
(kN)
4“
2 1372.930
4 2023.110
6 3897.160
5
6 (m m) (kN/m*) (kN/m*)
7 1 2 1.1040 100.00000 2._35E+007 1.02E+007
2- 3 1.3960 100.00000 2.35E+007 1.02E+007
3- 4 3.7500 11.00000 2.35E+007 1.02E+007
4 -5 3.7500 11.00000 2._35E+007 1.02E+007
5 6 1.1000 100.00000 2._35E+007 1.02E+007
6 - 7 1.1000 100.00000 2.35E+007 1.02E+007
1 1 1 2 2 2
4 4 4 J 4 4 4 J
1z (m) ly (m) () 1z (m) ly (m) (m)
1- 2 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
2 3 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
3- 4 4.43800 22.91500 0.70000 1.98300 8.19600 0.70000
4 - 5 4.43800 22.91500 0.70000 1.98300 8.19600 0.70000
5- 6 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
6- 7 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
Kx(Ass) 2_710000E+006 kN/m | Kx(Arr) 3.840000E+007 | kN.m/rad
Ky (Awv) kN/m | Ky kN.m/rad
Kz(Arr) 3.840000E+007 | kN.m/rad | Kz(Ass) 2.710000E+006 kN/m
Kxy(Asv) 0.000000E+000 kN/m | Kxy 0.000000E+000 | kN.m/rad
Kxz(Asr) -4.360000E+006 kN/rad | Kxz(Ars) -4.360000E+006 kN.m/m
Kyz(Avr) 0.000000E+000 kN/rad | Kyz 0.000000E+000 kN.m/m
(m) = 0.000

FORUM8
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1
(kN)
2 3427.420
4 5001.390
m () (kN/m*) (kN/m*)
1- 2 2.5500 24.00000 2.35E+007 1.02E+007
2 3 2.5500 24.00000 2.35E+007 1.02E+007
3- 4 1.0000 100.00000 2.35E+007 1.02E+007
4 - 5 1.0000 100.00000 2.35E+007 1.02E+007
1 1 1 2 2 2
J J
Iz (") ly (n) () 1z (") ly () ()
1 2 8.00000 288.00000 0.70000 8.00000 288.00000 0.70000
2- 3 8.00000 288.00000 0.70000 8.00000 288.00000 0.70000
3- 4 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
4 - 5 100.00000 100.00000 100.00000 100.00000 100.00000 100.00000
Kx(Ass) 3.520000E+006 kN/m | Kx(Arr) 9.505586E+007 | kN.m/rad
Ky (Aw) kN/m | Ky kN.m/rad
Kz(Arr) 5.530000E+007 | kN.m/rad | Kz(Ass) 3.523529E+006 kN/m
Kxy (Asv) 0.000000E+000 kN/m | Kxy 0.000000E+000 | kN.m/rad
Kxz(Asr) -5.550000E+006 kN/rad | Kxz(Ars) -5.547622E+006 kN.m/m
Kyz(Avr) 0.000000E+000 kN/rad | Kyz 0.000000E+000 kN.m/m
(m) = 0.000

FORUM8



- 28 -

1.3.2

(Bridge)

[ Hess kPl AR = 1:3.55 )

Ui (m)

Wickn) 1 2(1) 2(11)

superl 1| 1539.640 0.3566 0.3814 0.3814
(Bridge 1) 2| 3079.290 0.3568 0.3816 0.3816
3| 3079.200 0.3565 0.3814 0.3814

4| 3079.290 0.3567 0.3816 0.3816

5| 3079.290 0.3564 0.3814 0.3814

6| 3079.200 0.3567 0.3816 0.3816

7| 3079.200 0.3564 0.3814 0.3814

8| 3079.200 0.3567 0.3816 0.3816

o| 3079.290 0.3565 0.3814 0.3814

10| 3079.290 0.3568 0.3816 0.3816

11| 1539.640 0.3566 0.3814 0.3814

AL 1 0.000 0.0151 0.0155 0.0155
2| 34272420 0.0112 0.0115 0.0115

3 0.000 0.0077 0.0079 0.0079

4| 5001.390 0.0064 0.0066 0.0066

5 0.000 0.0052 0.0053 0.0053

P 1 0.000 0.0880 0.1172 0.1172
2| 13727930 0.0795 0.1041 0.1041

3 0.000 0.0687 0.0875 0.0875

4| 2023110 0.0416 0.0470 0.0470

5 0.000 0.0209 0.0207 0.0207

6| 3897.160 0.0163 0.0161 0.0161

7 0.000 0.0117 0.0116 0.0116

FORUM8
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Ui (m)
Wi (k) 1 2(1) 2311
P2 1 0.000 0.0880 0.1172 0.1172
2| 13727930 0.0795 0.1041 0.1041
3 0.000 0.0687 0.0875 0.0875
4| 2023110 0.0416 0.0470 0.0470
5 0.000 0.0209 0.0207 0.0207
6| 3897.160 0.0163 0.0161 0.0161
7 0.000 0.0117 0.0116 0.0116
P3 1 0.000 0.0880 0.1172 0.1172
2| 13727930 0.0795 0.1041 0.1041
3 0.000 0.0687 0.0875 0.0875
4| 2023110 0.0416 0.0470 0.0470
5 0.000 0.0209 0.0207 0.0207
6| 3897.160 0.0163 0.0161 0.0161
7 0.000 0.0117 0.0116 0.0116
P4 1 0.000 0.0880 0.1172 0.1172
2| 13727930 0.0795 0.1041 0.1041
3 0.000 0.0687 0.0875 0.0875
4| 2023110 0.0416 0.0470 0.0470
5 0.000 0.0209 0.0207 0.0207
6| 3897.160 0.0163 0.0161 0.0161
7 0.000 0.0117 0.0116 0.0116
A2 1 0.000 0.0151 0.0155 0.0155
2| 34277420 0.0112 0.0115 0.0115
3 0.000 0.0077 0.0079 0.0079
4| 5001.390 0.0064 0.0066 0.0066
5 0.000 0.0052 0.0053 0.0053
1
(m m A (m)
(kN/m)
1 8.198360E+003 0.3555 0.0151 0.3404
2 2.360000E+004 0.3551 0.0880 0.2671
superl 3 2.360000E+004 0.3551 0.0880 0.2671
(Bridge 1) 4 2.360000E+004 0.3551 0.0880 0.2671
5 2.360000E+004 0.3551 0.0880 0.2671
6 8. 198360E+003 0.3555 0.0151 0.3404
2 I
(m) (m) A (m)
(kN/m)
1 8.198360E+003 0.3802 0.0155 0.3647
2 2.360000E+004 0.3801 0.1172 0.2629
superl 3 2.360000E+004 0.3801 0.1172 0.2629
(Bridge 1) 4 2.360000E+004 0.3801 0.1172 0.2629
5 2.360000E+004 0.3801 0.1172 0.2629
6 8. 198360E+003 0.3802 0.0155 0.3647
2 1
(m (m) A (m)
(kN/m)
1 8.198360E+003 0.3802 0.0155 0.3647
> 2.360000E+004 0.3801 0.1172 0.2629
superl 3 2.360000E+004 0.3801 0.1172 0.2629
(Bridge 1) 4 2.360000E+004 0.3801 0.1172 0.2629
5 2.360000E+004 0.3801 0.1172 0.2629
6 8. 198360E+003 0.3802 0.0155 0.3647

FORUM8
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1 2(1) 2(11)
AL ) (m) 0.0052 0.0053 0.0053
) (M 0.0000 0.0000 0.0000
@ ) (rad) -0.0012 -0.0013 -0.0013
P1 ) (m) 0.0117 0.0116 0.0116
) (M 0.0000 0.0000 0.0000
@ ) (rad) -0.0042 -0.0041 -0.0041
P2 ) (m) 0.0117 0.0116 0.0116
OO 0.0000 0.0000 0.0000
@ ) (rad) -0.0042 -0.0041 -0.0041
P3 ) (m) 0.0117 0.0116 0.0116
OO 0.0000 0.0000 0.0000
@ ) (rad) -0.0042 -0.0041 -0.0041
P4 ) (m) 0.0117 0.0116 0.0116
OO 0.0000 0.0000 0.0000
@ ) (rad) -0.0042 -0.0041 -0.0041
A2 ) (m) 0.0052 0.0053 0.0053
OO 0.0000 0.0000 0.0000
@ ) (rad) -0.0012 -0.0013 -0.0013
F
1 2(1) 2(11)
F(kN) F(kN) F(kN)
AL Bridge 1 1 2790.829 2989.666 2989.666
P1 Bridge 1 2 6302.492 6203.297 6203.297
P2 Bridge 1 3 6303.124 6203.482 6203.482
P3 Bridge 1| 4 6303.124 6203.482 6203.482
P4 Bridge 1 5 6302.492 6203.297 6203.297
A2 Bridge 1 6 2790.829 2989.666 2989.666

FORUM8
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1.3.3

eff

(Bridge)

[ Hess kPl AR = 1:3.55 )

Ui (m)

Wickn) 1 2(1) 2(11)

superl 1| 1539.640 0.0165 0.0167 0.0167
(Bridge 1) 2| 3079.290 0.1339 0.1382 0.1382
3| 3079.200 0.2332 0.2412 0.2412

4| 3079.290 0.3068 0.3177 0.3177

5| 3079.290 0.3499 0.3626 0.3626

6| 3079.200 0.3652 0.3786 0.3786

7| 3079.200 0.3499 0.3626 0.3626

8| 3079.200 0.3068 0.3177 0.3177

o| 3079.290 0.2332 0.2412 0.2412

10| 3079.290 0.1339 0.1382 0.1382

11| 1539.640 0.0165 0.0167 0.0167

AL 1 0.000 0.0137 0.0138 0.0138
2| 34272420 0.0107 0.0108 0.0108

3 0.000 0.0078 0.0079 0.0079

4| 5001.390 0.0067 0.0067 0.0067

5 0.000 0.0056 0.0056 0.0056

P1 1 0.000 0.0564 0.0635 0.0635
2| 13727930 0.0519 0.0578 0.0578

3 0.000 0.0461 0.0506 0.0506

4| 2023110 0.0311 0.0323 0.0323

5 0.000 0.0173 0.0172 0.0172

6| 3897.160 0.0134 0.0134 0.0134

7 0.000 0.0096 0.0096 0.0096

FORUM8
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Ui (m)
Wi (k) 1 2(1) 2311
P2 1 0.000 0.0753 0.0858 0.0858
2| 13727930 0.0692 0.0779 0.0779
3 0.000 0.0614 0.0680 0.0680
4| 2023110 0.0411 0.0430 0.0430
5 0.000 0.0225 0.0224 0.0224
6| 3897.160 0.0174 0.0173 0.0173
7 0.000 0.0123 0.0123 0.0123
P3 1 0.000 0.0753 0.0858 0.0858
2| 13727930 0.0692 0.0779 0.0779
3 0.000 0.0614 0.0680 0.0680
4| 2023110 0.0411 0.0430 0.0430
5 0.000 0.0225 0.0224 0.0224
6| 3897.160 0.0174 0.0173 0.0173
7 0.000 0.0123 0.0123 0.0123
P4 1 0.000 0.0564 0.0635 0.0635
2| 13727930 0.0519 0.0578 0.0578
3 0.000 0.0461 0.0506 0.0506
4| 2023110 0.0311 0.0323 0.0323
5 0.000 0.0173 0.0172 0.0172
6| 3897.160 0.0134 0.0134 0.0134
7 0.000 0.0096 0.0096 0.0096
A2 1 0.000 0.0137 0.0138 0.0138
2| 34277420 0.0107 0.0108 0.0108
3 0.000 0.0078 0.0079 0.0079
4| 5001.390 0.0067 0.0067 0.0067
5 0.000 0.0056 0.0056 0.0056
1
(m m A (m)
(kN/m)
1 0.0137 0.0137 0.0000
2 2 .360000E+004 0.2229 0.0564 0.1665
superl 3 2.360000E+004 0.3359 0.0753 0.2606
(Bridge 1) 4 2.360000E+004 0.3359 0.0753 0.2606
5 2.360000E+004 0.2229 0.0564 0.1665
6| | Lo 0.0137 0.0137 0.0000
2 I
(m) (m) A (m)
(kN/m)
| | e 0.0138 0.0138 0.0000
2 2.360000E+004 0.2283 0.0635 0.1648
superl 3 2.360000E+004 0.3449 0.0858 0.2591
(Bridge 1) 4 2.360000E+004 0.3449 0.0858 0.2591
5 2.360000E+004 0.2283 0.0635 0.1648
6| | Lot 0.0138 0.0138 0.0000
2 1
(m (m) A (m)
(kN/m)
N 0.0138 0.0138 0.0000
> 2 .360000E+004 0.2283 0.0635 0.1648
superl 3 2.360000E+004 0.3449 0.0858 0.2591
(Bridge 1) 4 2.360000E+004 0.3449 0.0858 0.2591
5 2.360000E+004 0.2283 0.0635 0.1648
3 I 0.0138 0.0138 0.0000

FORUM8
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1 20D 1))
Al o) (rad) 0.0011 0.0011 0.0011
) (rad) 0.0000 0.0000 0.0000
@ ) 0.0056 0.0056 0.0056
P1 o) (rad) 0.0034 0.0034 0.0034
) (rad) 0.0000 0.0000 0.0000
@ ) 0.0096 0.0096 0.0096
P2 o) (rad) 0.0046 0.0046 0.0046
) (rad) 0.0000 0.0000 0.0000
@ ) 0.0123 0.0123 0.0123
P3 o) (rad) 0.0046 0.0046 0.0046
) (rad) 0.0000 0.0000 0.0000
@ ) 0.0123 0.0123 0.0123
P4 o) (rad) 0.0034 0.0034 0.0034
) (rad) 0.0000 0.0000 0.0000
@ ) 0.0096 0.0096 0.0096
A2 o) (rad) 0.0011 0.0011 0.0011
) (rad) 0.0000 0.0000 0.0000
@ ) 0.0056 0.0056 0.0056
F
1 2() 2(11)
F(kN) F(kN) F(kN)
Al Bridge 1 1 5316.391 5393.190 5393.190
P1 Bridge 2 3929.295 3888.737 3888.737
P2 Bridge 3 6150.759 6114.519 6114.519
P3 Bridge 4 6150.759 6114.519 6114.519
P4 Bridge 5 3929.295 3888.737 3888.737
A2 Bridge 6 5316.301 5393.190 5393.190

FORUM8
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1.4
1.4.1
( )
T(sec) | Khg Kho Khi | Kh F (kN) H (kN) Wu (kN)
superl -— ---- - | -] -] -
Al 0.20 ] 0.2500 | 0.25 2790.829 697.707 2790.829
Pl 0.20 ] 0.2500 | 0.25 6302.492 1575.623 6302.492
1 P2 | 1.149]0.20|0.2500 ] 0.2510.25 6303.124 1575.781 6303.124
P3 0.20 | 0.2500 | 0.25 6303.124 1575.781 6303.124
P4 0.20 ] 0.2500 | 0.25 6302.492 1575.623 6302.492
A2 0.20 | 0.2500 | 0.25 2790.829 697.707 2790.829
( )
T(sec) | Khg Kho Khi | Kh F (kN) H (kN) Wu (kN)
superl ———=]| ----- -1 | -] ] e
Al 0.20 | 0.2500 | 0.25 5316.391 1329.098 5316.391
Pl 0.20 ] 0.2500 | 0.25 3929.295 982.324 3929.295
1 P2 | 1.030|0.20|0.2500 | 0.2510.25 6150.759 1537.690 6150.759
P3 0.20 | 0.2500 | 0.25 6150.759 1537.690 6150.759
P4 0.20 | 0.2500 | 0.25 3929.295 982.324 3929.295
A2 0.20 | 0.2500 | 0.25 5316.391 1329.098 5316.391
( I )
T(sec) | Khg | Khco Cs Khci | Khc F (kN) H (kN) Wu (kN)
superl -—| -] ----- -— | - | -
Al 0.35]0.8500 | ----- -——- 2989.666 1345.350 2989.666
P1 0.35]0.8500 | 0.529 | 0.45 6203.297 2791.484 6203.297
1 P2 | 1.187 | 0.35]0.8500 | 0.529 | 0.45]0.45 6203.482 2791.567 6203.482
P3 0.35]0.8500 | 0.529 |0.45 6203.482 2791.567 6203.482
P4 0.35]0.8500 | 0.529 | 0.45 6203.297 2791.484 6203.297
A2 0.35]0.8500 | ----- - 2989.666 1345.350 2989.666
( I )
T(sec) | Khg| Khco Cs Khei | Khe F (kN) H (kN) Wu (kN)
superl - =] - -1 | -] -] -
Al 0.35]0.8500 | ----- - 5393.190 2912.322 5393.190
Pl 0.35]0.8500 | 0.635]0.54 3888.737 2099.918 3888.737
1 P2 | 1.048 10.35]10.8500 | 0.635|0.54]0.54 6114.519 3301.840 6114.519
P3 0.35]0.8500 | 0.635]0.54 6114.519 3301.840 6114.519
P4 0.35]0.8500 | 0.635]0.54 3888.737 2099.918 3888.737
A2 0.35]0.8500 | ----- - 5393.190 2912.322 5393.190
( 1 )
T(sec) | Khg| Khco Cs Khei | Khe F (kN) H (kN) Wu (kN)
superl - -] - -—1 | ] ] -
Al 0.70 | 1.7500 | ----- -———- 2989.666 1704.109 2989.666
P1 0.70 | 1.7500 | 0.323]0.57 6203.297 3535.880 6203.297
1 P2 | 1.187|0.70]11.7500 | 0.323|0.57]0.57 6203.482 3535.985 6203.482
P3 0.70 | 1.7500 | 0.323]0.57 6203.482 3535.985 6203.482
P4 0.70 | 1.7500 | 0.323]0.57 6203.297 3535.880 6203.297
A2 0.70 |} 1.7500 | ----- -——- 2989.666 1704.109 2989.666
( 1 )
T(sec) | Khg | Khco Cs Khci | Khc F (kN) H (kN) Wu (kN)
superl - -] ----- -—1 | ] | -
Al 0.70 | 1.7500 | ----- -——- 5393.190 3775.233 5393.190
P1 0.70 | 1.7500 | 0.400 | 0.70 3888.737 2722.116 3888.737
1 P2 | 1.048 |0.70]1.7500 | 0.400|0.70]0.70 6114.519 4280.163 6114.519
P3 0.70 | 1.7500 | 0.400|0.70 6114.519 4280.163 6114.519
P4 0.70 | 1.7500 | 0.400|0.70 3888.737 2722.116 3888.737
A2 0.70 | 1.7500 | ----- - 5393.190 3775.233 5393.190

FORUM8
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Khg
Kho
Khi
Kh
Khco
Cs
Khci
Khc

Wu

N B R

N

(kN)
(kN)

(kN)

FORUM8



- 36 -

1.4.2

1 1
Khgo Khg Kho Khi Kh
superl -—- -—— -— - -—-
Al 11 0.2000 0.20 0.2500 0.25
P1 11 0.2000 0.20 0.2500 0.25 0.25
p2 11 0.2000 0.20 0.2500 0.25 .
P3 11 0.2000 0.20 0.2500 0.25
P4 11 0.2000 0.20 0.2500 0.25
A2 11 0.2000 0.20 0.2500 0.25
Khgo
Khg Khg = Cz Khgo
Kho
Khi Khi = Cz Kho
(Khi 0.1 0.1 )
Kh
( )
Cz =1.00
=2.0140 = 1.149 (s)
X WixUi® 3969. 559
0 = — = 0.327 (m)
2WiXUi 12148. 673
Wi x Ui Wi x Ui’
Wi (kN) Ui (m) (KN.m) (KN.m?)
superl 1 1539.640 0.3566 548.964 195.735
(Bridge 1) 2 3079.290 0.3568 1098.584 391.937
3 3079.290 0.3565 1097.632 391.258
4 3079.290 0.3567 1098.359 391.776
5 3079.290 0.3564 1097.481 391.150
6 3079.290 0.3567 1098.284 391.722
7 3079.290 0.3564 1097.481 391.150
8 3079.290 0.3567 1098.359 391.776
9 3079.290 0.3565 1097.632 391.258
10 3079.290 0.3568 1098.584 391.937
11 1539.640 0.3566 548.964 195.735
Al 1 0.000 0.0151 0.000 0.000
2 3427.420 0.0112 38.507 0.433
3 0.000 0.0077 0.000 0.000
4 5001.390 0.0064 32.066 0.206
5 0.000 0.0052 0.000 0.000
P1 1 0.000 0.0880 0.000 0.000
2 1372.930 0.0795 109.132 8.675
3 0.000 0.0687 0.000 0.000
4 2023.110 0.0416 84.170 3.502
5 0.000 0.0209 0.000 0.000
6 3897.160 0.0163 63.491 1.034
7 0.000 0.0117 0.000 0.000

FORUM8
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Wi x Ui Wi x Ui’
Wi (kN) Ui (m) (kN.m) (kN.m*)

p2 1 0.000 0.0880 0.000 0.000
2 1372.930 0.0795 109.140 8.676

3 0.000 0.0687 0.000 0.000

4 2023.110 0.0416 84.175 3.502

5 0.000 0.0209 0.000 0.000

6 3897.160 0.0163 63.495 1.034

7 0.000 0.0117 0.000 0.000

P3 1 0.000 0.0880 0.000 0.000
2 1372.930 0.0795 109.140 8.676

3 0.000 0.0687 0.000 0.000

4 2023.110 0.0416 84.175 3.502

5 0.000 0.0209 0.000 0.000

6 3897.160 0.0163 63.495 1.034

7 0.000 0.0117 0.000 0.000

P4 1 0.000 0.0880 0.000 0.000
2 1372.930 0.0795 109.132 8.675

3 0.000 0.0687 0.000 0.000

4 2023.110 0.0416 84.170 3.502

5 0.000 0.0209 0.000 0.000

6 3897.160 0.0163 63.491 1.034

7 0.000 0.0117 0.000 0.000

A2 1 0.000 0.0151 0.000 0.000
2 3427.420 0.0112 38.507 0.433

3 0.000 0.0077 0.000 0.000

4 5001.390 0.0064 32.066 0.206

5 0.000 0.0052 0.000 0.000

12148.673 3969.559

FORUM8



- 38 -

2 I 1
Khgo Khg Khco Cs M a Khci Khc
superl - -1 -1 -] -] ] -
Al 11 0.3500 0.35 0.8500 | --—--—-| -——-—-]| ------
P1 11 0.3500 0.35 0.8500 0.529 2.290 0.45 0.45
p2 11 0.3500 0.35 0.8500 0.529 2.290 0.45 )
P3 11 0.3500 0.35 0.8500 0.529 2.290 0.45
P4 11 0.3500 0.35 0.8500 0.529 2.290 0.45
A2 11 0.3500 0.35 0.8500 | -----—-| -—-—-—-]| -----
Khgo ( )
Khg ( D) Khg = Cz Khgo
Khco ( )
1
Cs WEEM R ELR S Cs = ——
J2+« na—1
M a
Khci Khci = Cs Cz Khco
(Cz Khco 0.3 Khci = 0.3 Cs )
(Khci 0.4 Cz Khci = 0.4 Cz )
Khc
( )
Cz = 1.00
=2.01y0 = 1.187 (s)
X WixUi® 4564. 350
6 = ——— = = 0.349 (m)
Y WiXUi 13095. 595
Wi x Ui Wi x Ui’
Wi (kN) Ui (m) (kN.m) (KN.m)
superl 1 1539.640 0.3814 587.213 223.961
(Bridge 1) 2 3079.290 0.3816 1175.186 448.500
3 3079.290 0.3814 1174.337 447.852
4 3079.290 0.3816 1175.116 448.447
5 3079.290 0.3814 1174.290 447.817
6 3079.290 0.3816 1175.092 448.429
7 3079.290 0.3814 1174.290 447.817
8 3079.290 0.3816 1175.116 448.447
9 3079.290 0.3814 1174337 447.852
10 3079.290 0.3816 1175.186 448.500
11 1539.640 0.3814 587.213 223.961
Al 1 0.000 0.0155 0.000 0.000
2 3427.420 0.0115 39.541 0.456
3 0.000 0.0079 0.000 0.000
4 5001.390 0.0066 32.827 0.215
5 0.000 0.0053 0.000 0.000
P1 1 0.000 0.1172 0.000 0.000
2 1372.930 0.1041 142.890 14.871
3 0.000 0.0875 0.000 0.000
4 2023.110 0.0470 95.092 4.470
5 0.000 0.0207 0.000 0.000
6 3897.160 0.0161 62.886 1.015
7 0.000 0.0116 0.000 0.000

FORUM8
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Wi x Ui Wi x Ui’
Wi (kN) Ui (m) (kN.m) (kN.m*)

P2 1 0.000 0.1172 0.000 0.000
2 1372.930 0.1041 142.893 14.872

3 0.000 0.0875 0.000 0.000

4 2023.110 0.0470 95.094 4.470

5 0.000 0.0207 0.000 0.000

6 3897.160 0.0161 62.887 1.015

7 0.000 0.0116 0.000 0.000

P3 1 0.000 0.1172 0.000 0.000
2 1372.930 0.1041 142.893 14.872

3 0.000 0.0875 0.000 0.000

4 2023.110 0.0470 95.094 4.470

5 0.000 0.0207 0.000 0.000

6 3897.160 0.0161 62.887 1.015

7 0.000 0.0116 0.000 0.000

P4 1 0.000 0.1172 0.000 0.000
2 1372.930 0.1041 142.890 14.871

3 0.000 0.0875 0.000 0.000

4 2023.110 0.0470 95.092 4.470

5 0.000 0.0207 0.000 0.000

6 3897.160 0.0161 62.886 1.015

7 0.000 0.0116 0.000 0.000

A2 1 0.000 0.0155 0.000 0.000
2 3427.420 0.0115 39.541 0.456

3 0.000 0.0079 0.000 0.000

4 5001.390 0.0066 32.827 0.215

5 0.000 0.0053 0.000 0.000

13095.595 4564 .350

FORUM8



- 40 -

2 ] 1
Khgo Khg Khco Cs M a Khci Khc
superl - -1 -1 -] -] ] -
Al I1 0.7000 0.70 1.7500 | -] --———| -----
P1 11 0.7000 0.70 1.7500 0.323 5.280 0.57 0.57
p2 11 0.7000 0.70 1.7500 0.323 5.280 0.57 )
P3 11 0.7000 0.70 1.7500 0.323 5.280 0.57
P4 11 0.7000 0.70 1.7500 0.323 5.280 0.57
A2 11 0.7000 0.70 1.7500 | ----—-—-| -] ------
Khgo ( )
Khg ( ) Khg = Cz Khgo
Khco ( )
1
Cs WEEM R ELR S Cs = ——
J2+« na—1
M a
Khci Khci = Cs Cz Khco
(Cz Khco 0.6 Khci = 0.6 Cs )
(Khci 0.4 Cz Khci = 0.4 Cz )
Khc
( )
Cz = 1.00
=2.01y0 = 1.187 (s)
X WixUi® 4564. 350
5 = —— = 0.349 (m)
Y WiXUi 13095. 595
Wi x Ui Wi x Ui’
Wi (kN) Ui (m) (kN.m) (KN.m)
superl 1 1539.640 0.3814 587.213 223.961
(Bridge 1) 2 3079.290 0.3816 1175.186 448.500
3 3079.290 0.3814 1174.337 447.852
4 3079.290 0.3816 1175.116 448.447
5 3079.290 0.3814 1174.290 447.817
6 3079.290 0.3816 1175.092 448.429
7 3079.290 0.3814 1174.290 447.817
8 3079.290 0.3816 1175.116 448.447
9 3079.290 0.3814 1174337 447.852
10 3079.290 0.3816 1175.186 448.500
11 1539.640 0.3814 587.213 223.961
Al 1 0.000 0.0155 0.000 0.000
2 3427.420 0.0115 39.541 0.456
3 0.000 0.0079 0.000 0.000
4 5001.390 0.0066 32.827 0.215
5 0.000 0.0053 0.000 0.000
P1 1 0.000 0.1172 0.000 0.000
2 1372.930 0.1041 142.890 14.871
3 0.000 0.0875 0.000 0.000
4 2023.110 0.0470 95.092 4.470
5 0.000 0.0207 0.000 0.000
6 3897.160 0.0161 62.886 1.015
7 0.000 0.0116 0.000 0.000

FORUM8
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Wi x Ui Wi x Ui’
Wi (kN) Ui (m) (kN.m) (kN.m*)

P2 1 0.000 0.1172 0.000 0.000
2 1372.930 0.1041 142.893 14.872

3 0.000 0.0875 0.000 0.000

4 2023.110 0.0470 95.094 4.470

5 0.000 0.0207 0.000 0.000

6 3897.160 0.0161 62.887 1.015

7 0.000 0.0116 0.000 0.000

P3 1 0.000 0.1172 0.000 0.000
2 1372.930 0.1041 142.893 14.872

3 0.000 0.0875 0.000 0.000

4 2023.110 0.0470 95.094 4.470

5 0.000 0.0207 0.000 0.000

6 3897.160 0.0161 62.887 1.015

7 0.000 0.0116 0.000 0.000

P4 1 0.000 0.1172 0.000 0.000
2 1372.930 0.1041 142.890 14.871

3 0.000 0.0875 0.000 0.000

4 2023.110 0.0470 95.092 4.470

5 0.000 0.0207 0.000 0.000

6 3897.160 0.0161 62.886 1.015

7 0.000 0.0116 0.000 0.000

A2 1 0.000 0.0155 0.000 0.000
2 3427.420 0.0115 39.541 0.456

3 0.000 0.0079 0.000 0.000

4 5001.390 0.0066 32.827 0.215

5 0.000 0.0053 0.000 0.000

13095.595 4564 .350

FORUM8
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1 1
Khgo Khg Kho Khi Kh
superl - -—— —] - -—--
Al 11 0.2000 0.20 0.2500 0.25
P1 11 0.2000 0.20 0.2500 0.25 0.25
P2 11 0.2000 0.20 0.2500 0.25 .
P3 11 0.2000 0.20 0.2500 0.25
P4 11 0.2000 0.20 0.2500 0.25
A2 11 0.2000 0.20 0.2500 0.25
Khgo
Khg Khg = Cz Khgo
Kho
Khi Khi = Cz Kho
(Khi 0.1 0.1 )
Kh
( )
Cz =1.00
T =2.01/0 = 1.030 (s)
Wi XUi® 2226. 766
= - = = 0.262 (m)
2 Wi XUi 8486. 003
Wi x Ui Wi x Ui
Wi (kN) Ui (m) (kN.m) (KN.m?)
superl 1 1539.640 0.0165 25.466 0.421
(Bridge 1) 2 3079.290 0.1339 412.360 55.221
3 3079.290 0.2332 718.012 167.422
4 3079.290 0.3068 944776 289.872
5 3079.290 0.3499 1077.397 376.965
6 3079.290 0.3652 1124535 410.672
7 3079.290 0.3499 1077.397 376.965
8 3079.290 0.3068 944.776 289.872
9 3079.290 0.2332 718.012 167.422
10 3079.290 0.1339 412.360 55.221
11 1539.640 0.0165 25.466 0.421
Al 1 0.000 0.0137 0.000 0.000
2 3427.420 0.0107 36.754 0.394
3 0.000 0.0078 0.000 0.000
4 5001.390 0.0067 33.501 0.224
5 0.000 0.0056 0.000 0.000
P1 1 0.000 0.0564 0.000 0.000
2 1372.930 0.0519 71.196 3.692
3 0.000 0.0461 0.000 0.000
4 2023.110 0.0311 62.988 1.961
5 0.000 0.0173 0.000 0.000
6 3897.160 0.0134 52.334 0.703
7 0.000 0.0096 0.000 0.000
P2 1 0.000 0.0753 0.000 0.000
2 1372.930 0.0692 94.964 6.569
3 0.000 0.0614 0.000 0.000
4 2023.110 0.0411 83.238 3.425
5 0.000 0.0225 0.000 0.000
6 3897.160 0.0174 67.747 1.178
7 0.000 0.0123 0.000 0.000

FORUM8



- 43 -

Wi x Ui Wi x Ui’
Wi (kN) Ui (m) (kN.m) (kN.m*)

P3 1 0.000 0.0753 0.000 0.000
2 1372.930 0.0692 94.964 6.569

3 0.000 0.0614 0.000 0.000

4 2023.110 0.0411 83.238 3.425

5 0.000 0.0225 0.000 0.000

6 3897.160 0.0174 67.747 1.178

7 0.000 0.0123 0.000 0.000

P4 1 0.000 0.0564 0.000 0.000
2 1372.930 0.0519 71.196 3.692

3 0.000 0.0461 0.000 0.000

4 2023.110 0.0311 62.988 1.961

5 0.000 0.0173 0.000 0.000

6 3897.160 0.0134 52.334 0.703

7 0.000 0.0096 0.000 0.000

A2 1 0.000 0.0137 0.000 0.000
2 3427.420 0.0107 36.754 0.394

3 0.000 0.0078 0.000 0.000

4 5001.390 0.0067 33.501 0.224

5 0.000 0.0056 0.000 0.000

8486.003 2226.766

FORUM8



- 44 -

2 | 1
Khgo Khg Khco Cs M a Khci Khc
superl - -1 -1 -] -] ] -
Al 11 0.3500 0.35 0.8500 | --—--—-| -——-—-]| ------
P1 11 0.3500 0.35 0.8500 0.635 1.740 0.54 0.54
p2 11 0.3500 0.35 0.8500 0.635 1.740 0.54 )
P3 11 0.3500 0.35 0.8500 0.635 1.740 0.54
P4 11 0.3500 0.35 0.8500 0.635 1.740 0.54
A2 11 0.3500 0.35 0.8500 | -----—-| -—-—-—-]| -----
Khgo 2 ( )
Khg 2 ( D) Khg = Cz Khgo
Khco 2 ( )
1
Cs D HEEMRMERIESRE Cs = ——
J2+« na—1
M a
Khci Khci = Cs Cz Khco
(Cz Khco 0.3 Khci = 0.3 Cs )
(Khci 0.4 Cz Khci = 0.4 Cz )
Khc
( )
Cz = 1.00
=2.0140 = 1.048 (s)
X WixXUi® 2392. 120
6 = ——— = = 0.272 (m)
X WixXUi 8801. 552
Wi x Ui Wi x Ui’
Wi (kN) Ui (m) (kN.m) (KN.m)
superl 1 1539.640 0.0167 25.684 0.428
(Bridge 1) 2 3079.290 0.1382 425.555 58.811
3 3079.290 0.2412 742.653 179.110
4 3079.290 0.3177 978.353 310.843
5 3079.290 0.3626 1116.667 404.946
6 3079.290 0.3786 1165.737 441.317
7 3079.290 0.3626 1116.667 404.946
8 3079.290 0.3177 978.353 310.843
9 3079.290 0.2412 742.653 179.110
10 3079.290 0.1382 425.555 58.811
11 1539.640 0.0167 25.684 0.428
Al 1 0.000 0.0138 0.000 0.000
2 3427.420 0.0108 37.049 0.400
3 0.000 0.0079 0.000 0.000
4 5001.390 0.0067 33.741 0.228
5 0.000 0.0056 0.000 0.000
P1 1 0.000 0.0635 0.000 0.000
2 1372.930 0.0578 79.359 4.587
3 0.000 0.0506 0.000 0.000
4 2023.110 0.0323 65.426 2.116
5 0.000 0.0172 0.000 0.000
6 3897.160 0.0134 52.050 0.695
7 0.000 0.0096 0.000 0.000

FORUM8



- 45 -

Wi x Ui Wi x Ui’
Wi (kN) Ui (m) (kN.m) (kN.m*)

p2 1 0.000 0.0858 0.000 0.000
2 1372.930 0.0779 106.973 8.335

3 0.000 0.0680 0.000 0.000

4 2023.110 0.0430 86.905 3.733

5 0.000 0.0224 0.000 0.000

6 3897.160 0.0173 67.493 1.169

7 0.000 0.0123 0.000 0.000

P3 1 0.000 0.0858 0.000 0.000
2 1372.930 0.0779 106.973 8.335

3 0.000 0.0680 0.000 0.000

4 2023.110 0.0430 86.905 3.733

5 0.000 0.0224 0.000 0.000

6 3897.160 0.0173 67.493 1.169

7 0.000 0.0123 0.000 0.000

P4 1 0.000 0.0635 0.000 0.000
2 1372.930 0.0578 79.359 4 .587

3 0.000 0.0506 0.000 0.000

4 2023.110 0.0323 65.426 2.116

5 0.000 0.0172 0.000 0.000

6 3897.160 0.0134 52.050 0.695

7 0.000 0.0096 0.000 0.000

A2 1 0.000 0.0138 0.000 0.000
2 3427.420 0.0108 37.049 0.400

3 0.000 0.0079 0.000 0.000

4 5001.390 0.0067 33.741 0.228

5 0.000 0.0056 0.000 0.000

8801.552 2392.120

FORUM8



- 46 -

2 11 1
Khgo Khg Khco Cs M a Khci Khc
superl - -1 -1 -] -] ] -
Al I1 0.7000 0.70 1.7500 | -] --———| -----
P1 11 0.7000 0.70 1.7500 0.400 3.620 0.70 0.70
p2 11 0.7000 0.70 1.7500 0.400 3.620 0.70 )
P3 11 0.7000 0.70 1.7500 0.400 3.620 0.70
P4 11 0.7000 0.70 1.7500 0.400 3.620 0.70
A2 I 0.7000 0.70 [ 1.7500 | - === [ -—----
Khgo 2 ( )
Khg 2 ( ) Khg = Cz Khgo
Khco 2 ( )
1
Cs D HEEMRMERIESRE Cs = ——
J2+« na—1
M a
Khci Khci = Cs Cz Khco
(Cz Khco 0.6 Khci = 0.6 Cs )
(Khci 0.4 Cz Khci = 0.4 Cz )
Khc
( )
Cz = 1.00
=2.0140 = 1.048 (s)
X WixXUi® 2392. 120
6 = ——— = = 0.272 (m)
X WixXUi 8801. 552
Wi x Ui Wi x Ui’
Wi (kN) Ui (m) (kN.m) (KN.m)
superl 1 1539.640 0.0167 25.684 0.428
(Bridge 1) 2 3079.290 0.1382 425.555 58.811
3 3079.290 0.2412 742.653 179.110
4 3079.290 0.3177 978.353 310.843
5 3079.290 0.3626 1116.667 404.946
6 3079.290 0.3786 1165.737 441.317
7 3079.290 0.3626 1116.667 404.946
8 3079.290 0.3177 978.353 310.843
9 3079.290 0.2412 742.653 179.110
10 3079.290 0.1382 425.555 58.811
11 1539.640 0.0167 25.684 0.428
Al 1 0.000 0.0138 0.000 0.000
2 3427.420 0.0108 37.049 0.400
3 0.000 0.0079 0.000 0.000
4 5001.390 0.0067 33.741 0.228
5 0.000 0.0056 0.000 0.000
P1 1 0.000 0.0635 0.000 0.000
2 1372.930 0.0578 79.359 4.587
3 0.000 0.0506 0.000 0.000
4 2023.110 0.0323 65.426 2.116
5 0.000 0.0172 0.000 0.000
6 3897.160 0.0134 52.050 0.695
7 0.000 0.0096 0.000 0.000

FORUM8



- 47 -

Wi x Ui Wi x Ui’
Wi (kN) Ui (m) (kN.m) (kN.m*)

p2 1 0.000 0.0858 0.000 0.000
2 1372.930 0.0779 106.973 8.335

3 0.000 0.0680 0.000 0.000

4 2023.110 0.0430 86.905 3.733

5 0.000 0.0224 0.000 0.000

6 3897.160 0.0173 67.493 1.169

7 0.000 0.0123 0.000 0.000

P3 1 0.000 0.0858 0.000 0.000
2 1372.930 0.0779 106.973 8.335

3 0.000 0.0680 0.000 0.000

4 2023.110 0.0430 86.905 3.733

5 0.000 0.0224 0.000 0.000

6 3897.160 0.0173 67.493 1.169

7 0.000 0.0123 0.000 0.000

P4 1 0.000 0.0635 0.000 0.000
2 1372.930 0.0578 79.359 4 .587

3 0.000 0.0506 0.000 0.000

4 2023.110 0.0323 65.426 2.116

5 0.000 0.0172 0.000 0.000

6 3897.160 0.0134 52.050 0.695

7 0.000 0.0096 0.000 0.000

A2 1 0.000 0.0138 0.000 0.000
2 3427.420 0.0108 37.049 0.400

3 0.000 0.0079 0.000 0.000

4 5001.390 0.0067 33.741 0.228

5 0.000 0.0056 0.000 0.000

8801.552 2392.120

FORUM8



- 48 -

1.4.3

Al
Cz 1.00
B
]
(kN) 2451.660
@m 2.500
1
1C ) 1C )
T (s) 1.149 1.030
Kho 0.2500 0.2500
Khi 0.25 0.25
Kh 0.25 0.25
Wu (kN) 2790.829 5316.391
H (kN) 697.707 1329.098
Khgo 0.2000
Khg 0.20
Khi = Cz Kho
(Khi 0.1 0.1
Kh
Khg = Cz Khgo
H =F Kh =2790.829 0.25 = 697.707 (kN)
Wu = H / Kh = 2790.829(kN)
F (kN)
H =F Kh =5316.391 0.25 = 1329.098 (kN)
Wu = H / Kh = 5316.391(kN)
F (kN)

FORUM8



- 49 -

2 |
C ) i )
T (s) 1.187 1.048
pa | mmmmmmmmmmeeee | o
cs | mmmmmmmmmmmmem | mmmmeeee o
Khco 0.8500 0.8500
keiv | e |
Khc 0.45 0.54
Wu (kN) 2989.666 5393.190
H kN) 1345.350 2912.322
Khgo 0.3500
Khg 0.35
Khci = Cs Cz Khco
(Cz Khco 0.3 Khci = 0.3 Cs )
(Khci 0.4 Cz Khci = 0.4 Cz )
Khc
Cs = !
2+« pa—l1
Khg = Cz Khgo
H =F Khc = 2989.666 0.45 = 1345.350 (kN)
Wu = H / Khc = 2989.666(kN)
F (kN)
H = F Khc = 5393.190 0.54 = 2912.322 (kN)
Wu = H / Khc = 5393.190(kN)
F (kN)
2 1
C ) C )
T (s) 1.187 1.048
pa e ]
cs | A= | e
Khco 1.7500 1.7500
kei | e |
Khe 0.57 0.70
Wu (kN) 2989.666 5393.190
H (kN) 1704.109 3775.233
Khgo 0.7000
Khg 0.70

FORUM8



- 50 -

Khci = Cs Cz Khco

(Cz Khco 0.6 Khci = 0.6 Cs )
(Khci 0.4 Cz Khci = 0.4 Cz )
Khc
1
Cs =
2+« pa—l1
Khg = Cz Khgo
H = F Khc = 2989.666 0.57 = 1704.109 (kN)

Wu = H / Khc = 2989.666(kN)
F (kN)
H = F Khc = 5393.190 0.70 = 3775.233 (kN)
Wu = H / Khc = 5393.190(kN)
F (kN)

FORUM8



- 51 -

P1
Cz 1.00
B
]
(kN) 6962.720
(m) 2.500
1
C ) C )
T (s) 1.149 1.030
Kho 0.2500 0.2500
Khi 0.25 0.25
Kh 0.25 0.25
Wu (kN) 6302.492 3929.295
H (kN) 1575.623 982.324
Khgo 0.2000
Khg 0.20
Khi = Cz Kho
(Khi 0.1 0.1 )
Kh
Khg = Cz Khgo
H =F Kh =6302.492 0.25 = 1575.623 (kN)
Wu = H / Kh = 6302.492(kN)
F (kN)
H =F Kh =3929.295 0.25 = 982.324 (kN)
Wu = H / Kh = 3929.295(kN)
F (kN)

FORUM8



- 52 -

2 1
C ) i )
T s) 1.187 1.048
M a 2.2900 1.7400
Cs 0.5285 0.6350
Khco 0.8500 0.8500
Khei 0.45 0.54
Khc 0.45 0.54
Wu (kN) 6203.297 3888.737
H kN) 2791.484 2099.918
Khgo 0.3500
Khg 0.35
Khci = Cs Cz Khco
(Cz Khco 0.3 Khci = 0.3 Cs
(Khci 0.4 Cz Khci = 0.4 Cz
Khc
Cs = !
2+ ua—1
Khg = Cz Khgo
H =F Khc = 6203.297 0.45 = 2791.484 (kN)
Wu = H / Khc = 6203.297(kN)
F (kN)
H = F Khc = 3888.737 0.54 = 2099.918 (kN)
Wu = H / Khc = 3888.737(kN)
F (kN)
2 i1
C ) C )
T (s) 1.187 1.048
M a 5.2800 3.6200
Cs 0.3234 0.4003
Khco 1.7500 1.7500
Khci 0.57 0.70
Khe 0.57 0.70
Wu (kN) 6203.297 3888.737
H (kN) 3535.880 2722.116
Khgo 0.7000
Khg 0.70

FORUM8



- B3 -

Khci = Cs Cz Khco

(Cz Khco 0.6 Khci = 0.6 Cs )
(Khci 0.4 Cz Khci = 0.4 Cz )
Khc
1
Cs =
2+« pa—l1
Khg = Cz Khgo
H = F Khc = 6203.297 0.57 = 3535.880 (kN)

Wu = H / Khc = 6203.297(kN)
F (kN)
H = F Khc = 3888.737 0.70 = 2722.116 (kN)
Wu = H / Khc = 3888.737(kN)
F (kN)

FORUM8



- 54 -

P2
Cz 1.00
B
]
(kN) 5982.060
(m) 2.500
1
C ) C )
T (s) 1.149 1.030
Kho 0.2500 0.2500
Khi 0.25 0.25
Kh 0.25 0.25
Wu (kN) 6303.124 6150.759
H (kN) 1575.781 1537.690
Khgo 0.2000
Khg 0.20
Khi = Cz Kho
(Khi 0.1 0.1
Kh
Khg = Cz Khgo
H =F Kh =6303.124 0.25 = 1575.781 (kN)

Wu = H / Kh = 6303.124(kN)

H = F Kh=6150.759 0.25
Wu = H / Kh = 6150.759(kN)

(kN)

1537.690 (kN)

(kN)

FORUM8



- B5 -

2 1
C ) i )
T s) 1.187 1.048
M a 2.2900 1.7400
Cs 0.5285 0.6350
Khco 0.8500 0.8500
Khei 0.45 0.54
Khc 0.45 0.54
Wu (kN) 6203.482 6114.519
H kN) 2791.567 3301.840
Khgo 0.3500
Khg 0.35
Khci = Cs Cz Khco
(Cz Khco 0.3 Khci = 0.3 Cs
(Khci 0.4 Cz Khci = 0.4 Cz
Khc
Cs = !
2+ ua—1
Khg = Cz Khgo
H = F Khc = 6203.482 0.45 = 2791.567 (kN)
Wu = H / Khc = 6203.482(kN)
F (kN)
H =F Khc = 6114.519 0.54 = 3301.840 (kN)
Wu = H / Khc = 6114.519(kN)
F (kN)
2 i1
C ) C )
T (s) 1.187 1.048
M a 5.2800 3.6200
Cs 0.3234 0.4003
Khco 1.7500 1.7500
Khci 0.57 0.70
Khe 0.57 0.70
Wu (kN) 6203.482 6114.519
H (kN) 3535.985 4280.163
Khgo 0.7000
Khg 0.70

FORUM8



- 56 -

Khci = Cs Cz Khco

(Cz Khco 0.6 Khci = 0.6 Cs )
(Khci 0.4 Cz Khci = 0.4 Cz )
Khc
1
Cs =
2+« pa—l1
Khg = Cz Khgo
H = F Khc = 6203.482 0.57 = 3535.985 (kN)

Wu = H / Khc = 6203.482(KN)
F (kN)
H =F Khc = 6114.519 0.70 = 4280.163 (kN)
Wu = H / Khc = 6114.519(kN)
F (kN)

FORUM8



- 57 -

P3
Cz 1.00
B
]
(kN) 5982.060
(m) 2.500
1
C ) C )
T (s) 1.149 1.030
Kho 0.2500 0.2500
Khi 0.25 0.25
Kh 0.25 0.25
Wu (kN) 6303.124 6150.759
H (kN) 1575.781 1537.690
Khgo 0.2000
Khg 0.20
Khi = Cz Kho
(Khi 0.1 0.1
Kh
Khg = Cz Khgo
H =F Kh =6303.124 0.25 = 1575.781 (kN)

Wu = H / Kh = 6303.124(kN)

H = F Kh=6150.759 0.25
Wu = H / Kh = 6150.759(kN)

(kN)

1537.690 (kN)

(kN)

FORUM8



- B8 -

2 1
C ) i )
T s) 1.187 1.048
M a 2.2900 1.7400
Cs 0.5285 0.6350
Khco 0.8500 0.8500
Khei 0.45 0.54
Khc 0.45 0.54
Wu (kN) 6203.482 6114.519
H kN) 2791.567 3301.840
Khgo 0.3500
Khg 0.35
Khci = Cs Cz Khco
(Cz Khco 0.3 Khci = 0.3 Cs
(Khci 0.4 Cz Khci = 0.4 Cz
Khc
Cs = !
2+ ua—1
Khg = Cz Khgo
H = F Khc = 6203.482 0.45 = 2791.567 (kN)
Wu = H / Khc = 6203.482(kN)
F (kN)
H =F Khc = 6114.519 0.54 = 3301.840 (kN)
Wu = H / Khc = 6114.519(kN)
F (kN)
2 i1
C ) C )
T (s) 1.187 1.048
M a 5.2800 3.6200
Cs 0.3234 0.4003
Khco 1.7500 1.7500
Khci 0.57 0.70
Khe 0.57 0.70
Wu (kN) 6203.482 6114.519
H (kN) 3535.985 4280.163
Khgo 0.7000
Khg 0.70

FORUM8



- 59 -

Khci = Cs Cz Khco

(Cz Khco 0.6 Khci = 0.6 Cs )
(Khci 0.4 Cz Khci = 0.4 Cz )
Khc
1
Cs =
2+« pa—l1
Khg = Cz Khgo
H = F Khc = 6203.482 0.57 = 3535.985 (kN)

Wu = H / Khc = 6203.482(KN)
F (kN)
H =F Khc = 6114.519 0.70 = 4280.163 (kN)
Wu = H / Khc = 6114.519(kN)
F (kN)

FORUM8



- 60 -

P4
Cz 1.00
B
]
(kN) 6962.720
(m) 2.500
1
C ) C )
T (s) 1.149 1.030
Kho 0.2500 0.2500
Khi 0.25 0.25
Kh 0.25 0.25
Wu (kN) 6302.492 3929.295
H (kN) 1575.623 982.324
Khgo 0.2000
Khg 0.20
Khi = Cz Kho
(Khi 0.1 0.1 )
Kh
Khg = Cz Khgo
H =F Kh =6302.492 0.25 = 1575.623 (kN)
Wu = H / Kh = 6302.492(kN)
F (kN)
H =F Kh =3929.295 0.25 = 982.324 (kN)
Wu = H / Kh = 3929.295(kN)
F (kN)

FORUM8



- 61 -

2 1
C ) i )
T s) 1.187 1.048
M a 2.2900 1.7400
Cs 0.5285 0.6350
Khco 0.8500 0.8500
Khei 0.45 0.54
Khc 0.45 0.54
Wu (kN) 6203.297 3888.737
H kN) 2791.484 2099.918
Khgo 0.3500
Khg 0.35
Khci = Cs Cz Khco
(Cz Khco 0.3 Khci = 0.3 Cs
(Khci 0.4 Cz Khci = 0.4 Cz
Khc
Cs = !
2+ ua—1
Khg = Cz Khgo
H =F Khc = 6203.297 0.45 = 2791.484 (kN)
Wu = H / Khc = 6203.297(kN)
F (kN)
H = F Khc = 3888.737 0.54 = 2099.918 (kN)
Wu = H / Khc = 3888.737(kN)
F (kN)
2 i1
C ) C )
T (s) 1.187 1.048
M a 5.2800 3.6200
Cs 0.3234 0.4003
Khco 1.7500 1.7500
Khci 0.57 0.70
Khe 0.57 0.70
Wu (kN) 6203.297 3888.737
H (kN) 3535.880 2722.116
Khgo 0.7000
Khg 0.70

FORUM8



- 62 -

Khci = Cs Cz Khco

(Cz Khco 0.6 Khci = 0.6 Cs )
(Khci 0.4 Cz Khci = 0.4 Cz )
Khc
1
Cs =
2+« pa—l1
Khg = Cz Khgo
H = F Khc = 6203.297 0.57 = 3535.880 (kN)

Wu = H / Khc = 6203.297(kN)
F (kN)
H = F Khc = 3888.737 0.70 = 2722.116 (kN)
Wu = H / Khc = 3888.737(kN)
F (kN)

FORUM8



- 63 -

A2
Cz 1.00
B
]
(kN) 2451.660
(m) 2.500
1
C ) C )
T (s) 1.149 1.030
Kho 0.2500 0.2500
Khi 0.25 0.25
Kh 0.25 0.25
Wu (kN) 2790.829 5316.391
H (kN) 697.707 1329.098
Khgo 0.2000
Khg 0.20
Khi = Cz Kho
(Khi 0.1 0.1 )
Kh
Khg = Cz Khgo
H =F Kh =2790.829 0.25 = 697.707 (kN)
Wu = H / Kh = 2790.829(kN)
F (kN)
H =F Kh =5316.391 0.25 = 1329.098 (kN)
Wu = H / Kh = 5316.391(kN)
F (kN)

FORUM8



- 64 -

2 |
C ) i )
T (s) 1.187 1.048
pa | mmmmmmmmmmeeee | o
cs | mmmmmmmmmmmmem | mmmmeeee o
Khco 0.8500 0.8500
keiv | e |
Khc 0.45 0.54
Wu (kN) 2989.666 5393.190
H kN) 1345.350 2912.322
Khgo 0.3500
Khg 0.35
Khci = Cs Cz Khco
(Cz Khco 0.3 Khci = 0.3 Cs )
(Khci 0.4 Cz Khci = 0.4 Cz )
Khc
Cs = !
2+« pa—l1
Khg = Cz Khgo
H =F Khc = 2989.666 0.45 = 1345.350 (kN)
Wu = H / Khc = 2989.666(kN)
F (kN)
H = F Khc = 5393.190 0.54 = 2912.322 (kN)
Wu = H / Khc = 5393.190(kN)
F (kN)
2 1
C ) C )
T (s) 1.187 1.048
pa e ]
cs | A= | e
Khco 1.7500 1.7500
kei | e |
Khe 0.57 0.70
Wu (kN) 2989.666 5393.190
H (kN) 1704.109 3775.233
Khgo 0.7000
Khg 0.70

FORUM8



- 65 -

Khci = Cs Cz Khco

(Cz Khco 0.6 Khci = 0.6 Cs )
(Khci 0.4 Cz Khci = 0.4 Cz )
Khc
1
Cs =
2+« pa—l1
Khg = Cz Khgo
H = F Khc = 2989.666 0.57 = 1704.109 (kN)

Wu = H / Khc = 2989.666(kN)
F (kN)
H = F Khc = 5393.190 0.70 = 3775.233 (kN)
Wu = H / Khc = 5393.190(kN)
F (kN)

FORUM8



- 66 -

1.4.4
1
(KN/m) (kN) @)
1| 8.198360E+003 | (1) 0.25 x 2790.829 =  697.707 0.0851 | --———-
2| 2.360000E+004 | (1) 0.25 x 6302.492 = 1575.623 0.0668 | ---——-
superl 3| 2.360000E+004 | (1) 0.25 x 6303.124 = 1575.781 0.0668 [  ---——-—-
(Bridge 1) 4| 2.360000E+004 | (1) 0.25 x 6303.124 = 1575.781 0.0668 |  ---——-
5| 2.360000E+004 | (1) 0.25 x 6302.492 = 1575.623 0.0668 |  --———-
6| 8.198360E+003 | (1) 0.25 x 2790.829 =  697.707 0.0851 |  --——--
1
(KN/m) (kN) @)
l ____________________
2| 2.360000E+004 | (1) 0.25 x 3929.295 =  982.324 0.0416 |  --———-
superl 3| 2.360000E+004 | (1) 0.25 x 6150.759 = 1537.690 0.0652 |  --———-
(Bridge 1) 4| 2.360000E+004 | (1) 0.25 x 6150.759 = 1537.690 0.0652 |  --———-
5| 2.360000E+004 | (1) 0.25 x 3929.295 =  982.324 0.0416 | -
sl 1 e | e e
(DKh Wu
Kh
Wu (kN)
2 I
(KN/m) (kN) @)
1| 8.198360E+003 | (4) 0.40 x 2989.666 = 1195.866 0.1459 | -
2| 2.360000E+004 | (1) 0.45 x 6203.297 = 2791.484 0.1183 |  --———-
superl 3| 2.360000E+004 | (1) 0.45 x 6203.482 = 2791.567 0.1183 |  --——-
(Bridge 1) 4| 2.360000E+004 | (1) 0.45 x 6203.482 = 2791.567 0.1183 | -
5| 2.360000E+004 | (1) 0.45 x 6203.297 = 2791.484 0.1183 |  --———-
6| 8.198360E+003 | (4) 0.40 x 2989.666 = 1195.866 0.1459 | --———-
2 I
(KN/m) (kN) @
l ____________________
2| 2.360000E+004 | (1) 0.54 x 3888.737 = 2099.918 0.0890 |  --———-
superl 3| 2.360000E+004 | (1) 0.54 x 6114.519 = 3301.840 0.1399 |  --——--
(Bridge 1) 4| 2.360000E+004 | (1) 0.54 x 6114.519 = 3301.840 0.1399 | -
5| 2.360000E+004 | (1) 0.54 x 3888.737 = 2099.918 0.0890 |  --———-
sl 1 e | e e
2 1
(KN/m) (kN) @
1| 8.198360E+003 | (4) 0.78 x 2989.666 = 2331.939 0.2844 | -
2| 2.360000E+004 | (1) 0.57 x 6203.297 = 3535.880 0.1498 | --———-
superl 3| 2.360000E+004 | (1) 0.57 x 6203.482 = 3535.985 0.1498 |  --——-
(Bridge 1) 4| 2.360000E+004 | (1) 0.57 x 6203.482 = 3535.985 0.1498 |  --———-
5| 2.360000E+004 | (1) 0.57 x 6203.297 = 3535.880 0.1498 | -
6| 8.198360E+003 | (4) 0.78 x 2989.666 = 2331.939 0.2844 | -
2 I
(KN/m) (kN) )
/5 1 U I I
2| 2.360000E+004 | (1) 0.70 x 3888.737 = 2722.116 0.1153 | -
superl 3| 2.360000E+004 | (1) 0.70 x 6114.519 = 4280.163 0.1814 |  --———-
(Bridge 1) 4| 2.360000E+004 | (1) 0.70 x 6114.519 = 4280.163 0.1814 |  --———-
5| 2.360000E+004 | (1) 0.70 x 3888.737 = 2722.116 0.1153 | -
6 ____________________
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(DKhc Wu (Khc
(2)Cm Pu (Pu
(3)Cm Pu (Pu
(4HKhc Wu (Khc

Wu
Cm

= 3.000

1.2)

= 3.000
(kN)

(kN))
(kN))
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2
2.1 Bridge 1- 2(2 )
( )
| |
)
( Cz) A(1.00)
11
i
5
ii)
hs = 2.500 (m)
i)
Kp = 80740.011 (N/mm)
AT =50.0(C )
a =12.0 x 10°
L = 60.000 (m)
Alc =0 (mm)
1/a e = 300 (1/rad)
iv)
khc (0.57)
(kN) Wu (6207.320)
khc (0.70)
(kN) Wu (3887.862)
|
Xi RDi R L R L Rmax Rmin
(m) (kN) (kN) (kN) (kN) (kN)
1 5.000 1765.197 647.239 -156.906 2412 .436 1608.291
2 2.500 1470.997 578.592 -68.647 2049.589 1402.350
3 0.000 1372.931 882.599 -98.067 2255.530 1274864
4 -2.500 1176.798 882.599 -107.873 2059.397 1068.925
5 -5.000 1176.798 853.179 -107.873 2029.977 1068.925
Xi (m)
RDi (kN)
R L (kN)
R L (kN)
Rmax RDi R L (kN)
Rmin RDi R L (kN)
| |
)

FORUM8
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in)
G (N/mm*) y u (%)
1-5 0.981 500
i)
1 n
a  (mm) b” (mm) te (mm) () c (mm) ts (mm)
1-5 700.0 700.0 24.0 4 10.0 3.0
)
ii)
omax a omin a y a y ae Aoa fs fs 0 sa
(N/mm?) (N/mm?) %) ) (N/mm?) 1 2 (N/mm?)
1-5 7.845 1.471 70 250 4.903 2.50 1.50 137.293
o max a (N/mm?)
omin a (N/mm?)
ya ()
y ae (D)
Aca (N/mm?)
fs 1
fs 2
o sa (N/mm?)

FORUM8
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RU

Kv
Khg = Cz Khco = 1.00 0.70 = 0.70

Cz
Khco

Kv = C Khg = 0.67 0.70 = 0.47

= RDi + \)Rmzuz+ R\m2

= RDi — yRe’+ Rw’ fHL. RU = —0.3RDi
RL (kN)
RU (kN)
RDi (kN)
Rieo (kN)
Rueo Kv (kN)
Reo = + Kv  RDi
R = 0.0
R = KV RDi
RDi Reeo Reeo RL RU -0.3RDi
(kN) (kN) (kN) (kN) (kN) (kN)
1 1765.197 0.000 829.643 2594840 935.554 -529.559
2 1470.997 0.000 691.369 2162.366 779.628 -441.299
3 1372.931 0.000 645.278 2018.209 727.653 -411.879
4 1176.798 0.000 553.095 1729.893 623.703 -353.039
5 1176.798 0.000 553.095 1729.893 623.703 -353.039
HB hs = 3 (Rex Xi)
HB = khc Wu = 0.70 3887.862 = 2721.503
Y Rui = 0.0
Rieai = K(Xi  X0)
> Xi 0. 000
Xo = = = 0. 000
n 5
HB (kN)
khc
Wu (kN)
RDi i (kN)
hs (m)
Riegi i (kN)
Xi i (m)

FORUM8
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Xo RHEQi (m)
K
HB * hs « Xi
WQi T T 5
> (Xi—Xo)
Xi Ries (X0 = 0.0 )
RDi Xi ij Rieqi
(kN) (m (m) N)
1 1765.197 5.000 25.000 544 .301
2 1470.997 2.500 6.250 272.150
3 1372.931 0.000 0.000 0.000
4 1176.798 -2.500 6.250 -272.150
5 1176.798 -5.000 25.000 -544.301
2z 6962.721 | ------ 62.500 | @ ------
RHEQ
Rie = 544.301 (kN)
Rugg Rveo
Rdi Rigq Rueg RL RU -0.3RDi
(kN) (kN) (kN) (kN) (kN) (kN)
1 1765.197 544_301 829.643 2757 .452 772.942 -529.559
2 1470.997 544.301 691.369 2350.914 591.080 -441.299
3 1372.931 544.301 645.278 2217.115 528.747 -411.879
4 1176.798 544.301 553.095 1952.799 400.797 -353.039
5 1176.798 544_301 553.095 1952.799 400.797 -353.039
Rmax —Rmin Aoa
Rmin = onmin, a
Rmax (kN) O)
Rmin (kN) (i)
Aoa (N/mm?) (i)
o min a (N/mm?*) (iv)
Rmax Rmin . . . _
(kN) (kN) a in/iai| i/ w
1 2412.436 1608.291 0.500 3.333 | OK
2 2049.589 1402.350 0.462 3.333 | OK
3 2255.530 1274.864 0.769 3.333 | OK
4 2059.397 1068.925 0.927 3.333 | OK
5 2029.977 1068.925 0.899 3.333 | OK
Rmax .
A= = Amin
o max, a
Rmax
omax =
A
. Rmin
omin =
A
A (mm?)
A=a b

FORUM8
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KB

Rmax N)
Rmin nN)
o max a (N/mm?*)
Amin (mm?)
G max (N/mm?)
o min (N/mm?)
A (x 109 Amin o max o min
(mm*) (x 10%)(mm%) (N/mm?) (N/mm?)
1 46.240 30.751 5.217 3.478
2 46.240 26.126 4.433 3.033
3 46.240 28.751 4.878 2.757
4 46.240 26.251 4.454 2.312
5 46.240 25.876 4.390 2.312
2 te
te n > te
(mm) ) (mm)
1 24.000 4 96.000
2 24.000 4 96.000
3 24000 4 96.000
4 24.000 4 96.000
5 24.000 4 96.000
All
_A-G
2te
A (x 10%) G s te KB
(mm*) (N/mm?) (mm) (N/mm)
1 46.240 0.981 96.0 4725.150
2 46.240 0.981 96.0 4725.150
3 46.240 0.981 96.0 4725.150
4 46.240 0.981 9.0 4725.150
5 46.240 0.981 96.0 4725.150
2 23625.750
Kc = 1.0 / ((1.0/Z KB) (1.0/KP))
=1.0 / ((1-.0/23625.750) (1.0/80740.011)) = 18277.482 (N/mm)
Alt=AT o L =50.0x 12.0x 10® x 60.000x 10° = 36.000 (mm)
Ke 18277. 482
All = —— (Alt+Alc) = —————— (36.0004+0) = 27.851 (mm)
2 KB 23625. 750
Kc (N/mm)
KB (N/mm)
KP
(N/mm)
ALt (mm)
AT )
o}
L (m)
Alc (mm)
A (mm?)
G (N/mm?)
> te (mm)

FORUM8
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HB

3538. 172X 10°

uB =
2K

HB

B

23625. 750
HB = khc Wu = 0.57 6207.320x 10° = 3538.172x 10°

2721. 503X 10’

uB =
2K

B

23625. 750
HB = khc Wu = 0.70 3887.862x 10° = 2721.503x 10°

uB

= 149.759 (mm)

= 115.192 (mm)

HB (N)
khc
Wu Q)
2 KB KB (N/mm)
)
All -
S = a
i Xte Y
All > te Yy S y a
(mm) (mm) () ()
1 27.851 96.000 29 70| OK
2 27.851 96.000 29 70| OK
3 27.851 96.000 29 70| OK
4 27.851 96.000 29 70| OK
5 27.851 96.000 29 70| oK
ii)
uB -
se = = ae
v 2te Y
uB > te y se y ae
(mm) (mm) () ()
1 149.759 96.000 156 250 | OK
2 149.759 96.000 156 250 | OK
3 149.759 96.000 156 250 | OK
4 149.759 96.000 156 250 | OK
5 149.759 96.000 156 250 | OK
uB 2 te y se y ae
(mm) (mm) (%) (%)
1 115.192 96.000 120 250 | OK
2 115.192 96.000 120 250 | OK
3 115.192 96.000 120 250 | OK
4 115.192 96.000 120 250 | OK
5 115.192 96.000 120 250 | OK
All (mm)
uB (mm)
> te (mm)
ys )
ya (%)

FORUM8
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y se (D)
y ae (D)
Rmax
omax * o = = omax, a
Ao
o max o (N/mm*)
o max a (N/mm?)
Rmax kN)
Ao (mm?)
Ao = (a Al
a (mm)
b (mm)
All (mm)
Rmax a b All Ao (x 10 o max o o max a
(kN) (mm) (mm) (mm) (mm?) (N/mm?) (N/mm?)
1 2412.436 | 680.0 | 680.0 27.851 44 .346 5.440 7.845 1 OK
2 2049.589 | 680.0| 680.0 27.851 44 346 4.622 7.845 1 OK
3 2255.530 | 680.0| 680.0 27.851 44346 5.086 7.845 | OK
4 2059.397 | 680.0| 680.0 27.851 44 346 4.644 7.845 | OK
5 2029.977 | 680.0| 680.0 27.851 44 .346 4.578 7.845 1 OK
Ao =omax o o min Ao a
o max o (N/mm?)
o min (N/mm?)
Ao a (N/mm?)
g max o o min Ao Aoa
(N/mm?) (N/mm?) (N/mm?) (N/mm?)
1 5.440 3.478 1.962 4.903 1 OK
2 4.622 3.033 1.589 4.903 | OK
3 5.086 2.757 2.329 4.903 | OK
4 4.644 2.312 2.332 4.903 | OK
5 4.578 2.312 2.266 4.903 1 OK
gc O cRa
gc (N/mm?)
oc=a0gmax o
o cRa (N/mm?)
ocRka=(G S a) [/ fs
(N/mm?*)
S=(@ b /7 @@ b te)
a (mm)
b (mm)
te 1 (mm)
a a b > te
a =a/ te b/ Zte

FORUM8
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fs
ogc a b te > te s o O CRa
(N/mm?) (mm) (mm) (mm) (mm) (N/mm?)
1 5.440 | 680.0 | 680.0 24000 96.000 7.083 | 7.083 19.688 | OK
2 4.622 | 680.0 | 680.0 24.000 96.000 7.083 | 7.083 19.688 | OK
3 5.086 | 680.0| 680.0 24.000 96.000 7.083 | 7.083 19.688 | OK
4 4.644 | 680.0| 680.0 24.000 96.000 7.083 | 7.083 19.688 | OK
5 4.578 | 680.0| 680.0 24000 96.000 7.083 | 7.083 19.688 | OK
Rmax
= Xte > ae-* —
EA
Rmax (kN)
E
0.5 b/a 2 E=(3 6.585) G (N/mm?)
0.5 b/a b/a 2 E=(4 3.295 ?» G (N/mm?)
S =za/(2 te) = (1 a/b)S
A (mm?)
A=(a b)
G (N/mm?)
S ( )
> te (mm)
ae (rad)
a (mm)
b (mm)
Rmax S E A (x 109 s te o oe a/?2
(kN) ¢ ) (N/mm?) (mn) (mm) (mm) (mm)
1 2412.436 | o 7.083 326.813 46.240 96.000 1.533 1.133 | OK
2 2049.589 | o 7.083 326.813 46.240 96.000 1.302 1.133 ] OK
3 2255.530 | o 7.083 326.813 46.240 96.000 1.433 1.133 | OK
4 2059.397 | o 7.083 326.813 46.240 96.000 1.308 1.133 | OK
5 2029.977 | o 7.083 326.813 46.240 96.000 1.290 1.133 | OK
o S S
u
yt=vyec + ys + yr = RAS
fs
y c
8.5500
cC = —=
v 2te
Rmax
0o = Y te
E - Ao
Rmax E Ao (x 109 3 te do0 S c
(kN) (N/mm?) (mnt) (mm) (mm) Y
1 2412 .436 326.813 44.346 96.000 1.598 7.083 1.002
2 2049.589 326.813 44346 96.000 1.358 7.083 0.851
3 2255.530 326.813 44 .346 96.000 1.494 7.083 0.937
4 2059.397 326.813 44 .346 96.000 1.364 7.083 0.856
5 2029.977 326.813 44.346 96.000 1.345 7.083 0.843
ys (
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All
S —
Y 2te
yr
yr=21 atb)* & ae (1/n)
a b n
amy | am | ) 3 ae vr
1] 680.0| 680.0 4 7.083 1/300 0.334
2| 680.0] 680.0 4 7.083 1/300 0.334
3| 680.0| 680.0 4 7.083 1/300 0.334
41 680.0] 680.0 4 7.083 1/300 0.334
5| 680.0] 680.0 4 7.083 1/300 0.334
fs
yc Yy s yr yt \(/%g yu/ fs
1 1.002 0.290 0.334 1.627 500 3.333 | OK
2 0.851 0.290 0.334 1.476 500 3.333 | OK
3 0.937 0.290 0.334 1.562 500 3.333 | OK
4 0.856 0.290 0.334 1.480 500 3.333 | OK
5 0.843 0.290 0.334 1.468 500 3.333 | OK
omax * o X te
0os = = osa
ts
te 1 (mm)
ts (mm)
o sa (N/mm?*)
omax o te ts gs o sa
(N/mm?) (mm) (mm) (N/mm*) (N/mm?)
1 5.440 24.0 3.0 43.520 137.293 | OK
2 4.622 24.0 3.0 36.974 137.293 | OK
3 5.086 24.0 3.0 40.690 137.293 | OK
4 4.644 24.0 3.0 37.151 137.293 | OK
5 4.578 24.0 3.0 36.621 137.293 | OK
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i)
0.927 3.333 4l oK
(N/m?) 5.217 7.845 1] ok
0.290 0.700 1] oK
1.560 2.500 1] ok
1.200 2.500 1] oK
(N/m?) 5.440 7.845 1] ok
(N/m?) 2.332 4.903 4l oK
(N/m?) 5.440 19.688 1] oK
(mm) 1.133 1.290 5] oK
1.627 3.333 1] oK
(N/m?) 43.520 137.293 1] oK
i)
0.500 3.333 | oK
(N/mi?) 5.217 7.845 | oK
0.290 0.700 | oK
1.560 2.500 | oK
1.200 2.500 | oK
(N/mi?) 5.440 7.845 | oK
(N/m?) 1.962 4.903 | oK
(N/mi?) 5.440 19.688 | ok
(nm) 1.133 1.533 | ok
1.627 3.333 | oK
(N/mi?) 43.520 137.293 | ok
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0.462 3.333 | oK
(N/mm?) 4.433 7.845 | OK
0.290 0.700 | oK

1.560 2.500 | OK

1.200 2.500 | OK

(N/mm?) 4.622 7.845 | OK
(N/mm) 1.589 4.903 | oK
(N/mm?) 4.622 19.688 | OK
(nm) 1.133 1.302 | oK
1.476 3.333| oK

(N/mm) 36.974 137.293 | oK
0.769 3.333 | oK

(N/mm?) 4.878 7.845 | OK
0.290 0.700 | OK

1.560 2.500 | OK

1.200 2.500 | OK

(N/mm?) 5.086 7.845 | OK
(N/mm) 2.329 4.903 | oK
(N/mm?) 5.086 19.688 | OK
() 1.133 1.433 | oK
1.562 3.333 | oK

(N/mm) 40.690 137.293 | oK
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0.927 3.333 | oK
(N/mm?) 4.454 7.845 | OK
0.290 0.700 | oK

1.560 2.500 | OK

1.200 2.500 | OK

(N/mm?) 4.644 7.845 | OK
(N/mm) 2.332 4.903 | oK
(N/mm?) 4.644 19.688 | OK
(nm) 1.133 1.308 | OK
1.480 3.333| oK

(N/mm) 37.151 137.293 | oK
0.899 3.333 | oK

(N/mm?) 4.390 7.845 | OK
0.290 0.700 | OK

1.560 2.500 | OK

1.200 2.500 | OK

(N/mm?) 4.578 7.845 | OK
(N/mm) 2.266 4.903 | oK
(N/mm?) 4.578 19.688 | OK
() 1.133 1.290 | oK
1.468 3.333 | oK

(N/mm) 36.621 137.293 | oK

FORUM8



- 80 -

3
(@H) P 0
)
€)
1
2)
4)
K
1
K = ‘
1, L,
Kp KFu KFr
S
p 5p
P
KFu = —
6o
M
KFr = —
0o
M =P - ho(kN.m)
0 =6p+ 6o+ Qo ho
K (kN/m)
Kp (kN/m)
KFu (kN/m)
KFr : (kN.m/rad)
P = (kN)
op: (m)
d0: (m)
6o : (rad)
% (m
0 : (m)
P=1000(kN)
3.1
a EO
KFu(kN/m) KFr(kN.m/rad) Kp(kN/m) K (kN/m)
L el I 3.743235E+006 |  -------——-
P e - 3.063609E+005 |  --------——-
PR e - 3.063609E+005 | ~ --------——-
- e —— e — 3.063609E+005 |  —-----mmm-
P4 | mmmmeeeem | - 3.063609E+005 |  -------——-
2 3.743235E+006 |  ---—------

FORUM8
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0 op 00 0o 0
(m) (m) (mm) (mm) (mm) (nrad) (m)
Al 7.100 0.000 | ------ 0.267 | ----—— | --————- 7.100
P1 12.200 0.000 | ------ 3.264 | ----—- | -————- 12.200
P2 12.200 0.000 | ------ 3.264 | ----—- | -————- 12.200
P3 12.200 0.000 | ------ 3.264 | ----—- | -———- 12.200
P4 12.200 0.000 | ------ 3.264 | ----—- | -————- 12.200
A2 7.100 0.000 | ------ 0.267 | ------ | -———- 7.100
P=1000(kN)
KFu(kN/m) KFr(kN.m/rad) Kp(kN/m) K (kN/m)
N e B 2.598414E+007 |  -—-———-——-
O e I 1.375009E+006 |  ----—---—-
2 e I 1.375009E+006 |  ----------
B ] e - 1.375009E+006 |  ----------
4 | ] 1.375009E+006 |  ----—---—-
LY el 2.598414E+007 |  -————————-
o op do0 0o 0
(m) (m) (mm) (mm) (mm) (mrad) (m)
Al 7.100 0.000 | ------ 0.038 | ------ | -———-- 7.100
P1 12.200 0.000 | ------ 0.727 | ----—- | -———- 12.200
P2 12.200 0.000 | ------ 0.727 | ----—- | -————- 12.200
P3 12.200 0.000 | ------ 0.727 | ------ | -————- 12.200
P4 12.200 0.000 | ------ 0.727 | ------ | -———- 12.200
A2 7.100 0.000 | ------ 0.038 | ----—- | -————- 7.100
P=1000(kN)
3.2
ED
KFu(kN/m) KFr(kN.m/rad) Kp(kN/m) K (kN/m)
Al 1.730146E+006 | 3.809049E+007 | 3.743235E+006 | 4.611351E+005
P1 9.286226E+005 | 2.772871E+007 | 3.063609E+005 [ 1.030003E+005
P2 9.286226E+005 | 2.772871E+007 | 3.063609E+005 | 1.030003E+005
P3 9.286226E+005 | 2.772871E+007 | 3.063609E+005 | 1.030003E+005
P4 9.286226E+005 | 2.772871E+007 | 3.063609E+005 [ 1.030003E+005
A2 1.730146E+006 | 3.809049E+007 | 3.743235E+006 | 4.611351E+005
0 op o0 6o 0
(m) (m) (mm) (mm) (mm) (mrad) (m)
Al 7.100 0.000 2.169 0.267 0.578 0.186 7.100
P1 12.200 0.000 9.709 3.264 1.077 0.440 12.200
P2 12.200 0.000 9.709 3.264 1.077 0.440 12.200
P3 12.200 0.000 9.709 3.264 1.077 0.440 12.200
P4 12.200 0.000 9.709 3.264 1.077 0.440 12.200
A2 7.100 0.000 2.169 0.267 0.578 0.186 7.100
P=1000(kN)

FORUM8



- 82 -

KFu(kN/m) KFr(kN.m/rad) Kp(kN/m) K (kN/m)
Al 2.262325E+006 | 7.065369E+007 | 2.598414E+007 | 8.375292E+005
P1 9.286226E+005 | 2.772871E+007 | 1.375009E+006 | 1.394340E+005
P2 9.286226E+005 | 2.772871E+007 | 1.375009E+006 | 1.394340E+005
P3 9.286226E+005 | 2.772871E+007 | 1.375009E+006 | 1.394340E+005
P4 9.286226E+005 | 2.772871E+007 | 1.375009E+006 | 1.394340E+005
A2 2.262325E+006 | 7.065369E+007 | 2.598414E+007 | 8.375292E+005

0 op o0 6o 0

(m) (m) (mm) (mm) (mm) (mrad) (m)
Al 7.100 0.000 1.194 0.038 0.442 0.100 7.100
P1 12.200 0.000 7.172 0.727 1.077 0.440 12.200
P2 12.200 0.000 7.172 0.727 1.077 0.440 12.200
P3 12.200 0.000 7.172 0.727 1.077 0.440 12.200
P4 12.200 0.000 7.172 0.727 1.077 0.440 12.200
A2 7.100 0.000 1.194 0.038 0.442 0.100 7.100

P=1000(kN)
3.3
ED

KFu(kN/m) KFr(kN.m/rad) Kp(kN/m) K (kN/m)
Al 1.730146E+006 | 3.809049E+007 | 3.743235E+006 | 4.611351E+005
P1 9.286226E+005 | 2.772871E+007 | 1.396809E+005 | 7.350909E+004
P2 9.286226E+005 | 2.772871E+007 | 1.396809E+005 | 7.350909E+004
P3 9.286226E+005 | 2.772871E+007 | 1.396809E+005 | 7.350909E+004
P4 9.286226E+005 | 2.772871E+007 | 1.396809E+005 | 7.350909E+004
A2 1.730146E+006 | 3.809049E+007 | 3.743235E+006 | 4.611351E+005

0 op 00 0o 0

(m) (m (mm) (mm) (mm) (nrad) (m)
Al 7.100 0.000 2.169 0.267 0.578 0.186 7.100
P1 12.200 0.000 13.604 7.159 1.077 0.440 12.200
P2 12.200 0.000 13.604 7.159 1.077 0.440 12.200
P3 12.200 0.000 13.604 7.159 1.077 0.440 12.200
P4 12.200 0.000 13.604 7.159 1.077 0.440 12.200
A2 7.100 0.000 2.169 0.267 0.578 0.186 7.100

P=1000(kN)

KFu(kN/m) KFr(kN.m/rad) Kp(kN/m) K (kN/m)
Al 2.262325E+006 | 7.065369E+007 | 2.598414E+007 | 8.375292E+005
P1 9.286226E+005 | 2.772871E+007 | 5.489840E+005 | 1.209756E+005
P2 9.286226E+005 | 2.772871E+007 | 5.489840E+005 | 1.209756E+005
P3 9.286226E+005 | 2.772871E+007 | 5.489840E+005 | 1.209756E+005
P4 9.286226E+005 | 2.772871E+007 | 5.489840E+005 | 1.209756E+005
A2 2.262325E+006 | 7.065369E+007 | 2.598414E+007 | 8.375292E+005
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0 op 00 0o 0

(m) (m) (mm) (mm) (mm) (nrad) (m)
Al 7.100 0.000 1.194 0.038 0.442 0.100 7.100
P1 12.200 0.000 8.266 1.822 1.077 0.440 12.200
P2 12.200 0.000 8.266 1.822 1.077 0.440 12.200
P3 12.200 0.000 8.266 1.822 1.077 0.440 12.200
P4 12.200 0.000 8.266 1.822 1.077 0.440 12.200
A2 7.100 0.000 1.194 0.038 0.442 0.100 7.100

P=1000(kN)

FORUM8
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